Svenska Bridgeférbundet

Sommarsilver 2 2020-07-29

SCRATCH

Partavling, 61 bord, 122 par. Antal brickor: 24. Medel: 1439.6.

Plac Par
1 25
2 80
3 81
4 113
5 9
6 91
7 96
8 49
9 112
10 3
11 23
12 108
13 90
14 48
15 98
16 64
17 87
18 95
19 116
20 55
21 15
22 78
23 117
24 37
25 7
26 71
27 99
28 2
29 54
30 70
31 19
32 33
33 88
34 56
35 1
36 47
37 42
38 29
39 110
40 24
41 84
42 97
43 102
44 16
45 22
46 82
47 105
48 86
49 17
50 41
51 10
52 50
53 61
54 114
55 36
56 46
57 31
58 79
59 104
60 43
61 111
62 32
63 40
64 53
65 83
66 60
67 93
68 11
69 92
70 68
71 122
72 120
73 106
74 65
75 58
76 28
77 52
78 12
79 121
80 109
81 13
82 73
83 66
84 5
85 115

Poang

1936.4
1844.0
1780.5
1779.9
1777.8
1772.2
1762.9
1760.2
1758.3
1731.2
1719.5
1716.6
1714.3
1712.2
1673.3
1669.1
1667.9
1661.9
1653.8
1650.6
1643.3
1642.4
1621.1
1612.8
1607.8
1606.8
1597.4
1586.0
1585.9
1574.4
1567.9
1556.8
1552.2
1546.0
1545.0
1544.6
1538.6
1527.1
1526.2
1520.2
1516.4
1514.2
1501.7
1495.6
1495.2
1488.4
1487.5
1481.0
1478.1
1477.3
1476.1
1474.0
1472.7
1471.0
1470.1
1454.6
1451.4
1443.0
1441.9
1440.3
1438.5
1437.6
1436.1
1429.9
1428.5
1427.6
1422.4
1421.7
1420.4
1418.9
1415.5
1405.7
1401.9
1400.1
1396.7
1392.9
1389.8
1386.8
1384.3
1381.8
1381.1
1366.8
1361.7
1360.1
1357.9

%

67.24
64.03
61.82
61.80
61.73
61.54
61.21
61.12
61.05
60.11
590.71
59.61
59.52
59.45
58.10
57.95
57.91
57.71
57.42
57.31
57.06
57.03
56.29
56.00
55.83
55.79
55.47
55.07
55.06
54.67
54.44
54.06
53.90
53.68
53.64
53.63
53.42
53.02
52.99
52.78
52.65
52.58
52.14
51.93
51.92
51.68
51.65
51.42
51.32
51.30
51.25
51.18
51.13
51.08
51.05
50.51
50.40
50.10
50.07
50.01
49.95
49.92
49.87
49.65
49.60
49.57
49.39
49.36
49.32
49.27
49.15
48.81
48.68
48.62
48.50
48.37
48.26
48.15
48.07
47.98
47.96
47.46
47.28
47.23
47.15

Namn

Helena Strémberg - Dan Bylund
Krister Berg - Rolf Johansson

Oscar Hult - UIf Lokrantz

Andreas Konyves - Lars Lundqvist
Goran Selldén - Gote Berntsson

Anna Zack Efraimsson - Bengt-Erik Efraimsson
Sanna Clementsson - Simon Hult
Benita Hagnestam - Staffan Bengtsson
Bo Gisslander - Rose-Marie Jarl
Kjell-Ake Nilsson - Eva Nilsson

Roger Toérnkvist - Hakan Isaksson
Lennart Bylund - UIf Henriksson

Marie Cederkrok - Maria Klingspor
Sara Andersson - Ewa Smedberg
Anders Vage - Anders lhalainen
Thomas Brehmer - Johan Gronkvist
Robert Frank - Johan Goransson

Leif Andersson - Anders Persson
Tommy Froéjdh - Leif Axelsson

Tage Bengtsson - Jan Unosson
Jenny Evelius-Nohrén - Kjell Hedman
Bengt Nilsson - Peter Gati

Rolf Selander - Maria Gronkvist

Sigrid Svenson - John Svensson
Joakim Nordlindh - Lars Ramquist
Leif Lundberg - Emma Karlsson
Lennart Ekholm - Christer Astrém
Lars-Goéran Nilsson - Kerstin Becker
Sven Andersson - Lars Gustafsson
Kent Karlsson - Pasi Kallio

Tomas Holmberg - Jonas Hjelte
Cristina Ringstrom - Per Gjellan

Lars Lilja - Karola Hogberg

Jorgen Claesson - Hakan Gabrielsen
Rolf Scherdin - UIf Nohrén

Lars Edbladh - Anne-Sophie Edbladh
Thor Sagfors - Dan Sundstrom
Anders Sjostedt - Par Ol-Mars

Bengt Alrud - Géran Lidgren

Roger Hilmersson - Anita Bergstedt
Lars-Ake Gustafsson - Thomas Therkelson
Britt-Marie Gallon - Joyce Fahlstad
Lars Lundgren - Thomas Ekendahl
Patrik Elofsson - Tommy Ranta-Mikkula
Helena Lindmark-Mansson - Lennart Mansson
Par Ljungquist - Fredrik Norling
Lars-Goran Ostlund - Lennart Persson
Hakan Heggblad - Anders Jonsson
Peter Frost - Christina Lidstrom-Nordin
Per Jansson - Lars Kennethsson
Hakan Elensky - Berit Jonsson

Anita Gullberg - Wlodek Tugendraich
Anne Marie Svensson - Dan Svensson
Peter Krug - Anders Norin

Ake Lundkvist - Seymour Eriksson
Kjell Helin - Emil Vall

Jerker Norlund - Lars Ornberg

Jesper Zettergren - Mattias Forss
Goran Oldin - Lars S Karlsson
Andrzej Luczynski - Lars-Erik Moberg
Krister Persson - Ove Lundberg

Sture Helmersson - Lars Rydman
Staffan Lowenadler - Adam Kovasznay
Magnus Cassel - Per Magnusson
Mats Sandequist - Kenneth Wallin
Otto Berntsson - Anna Ek

Anders Olsson - Christer Ekberg
Inga-Lill Westberg - Bo Wiker

Bengt Forsberg - Elisabeth Stenberg
Sture Mattsson - Olle Karlsson

Hakan Lindblom - Magnus Ekman
Anders Lindback - Georg Bryntze
Bengt Adielsson - Florence Fridén
Yvonne Lund - Yvonne Thalén

Hans Svensson - Géran Stigsson

Siv Jénsson - Gunnar Jonsson

Roland Gyllenhammar - Mats Hall
Britt-Marie Ericson - Eva Klingspor
Mats Bud - Mikael Alexandersson
Magnus Wabhlstrom - lwe Persson
Peter Perulf - Goran Nyqvist

Kjell Ake Nilsson - Peter Moricz

Hans Kuvick - Krister Ahlesved

Pekka Idman - Bengt Nilsson

Rasmus Andersson - UIf Andersson

MID

12565
9747
12879
4590
4863
4049
55629
89424
51029
6427
7861
8234
40103
64013
50378
4133
25150
2967
11280
1688
2812
5797
7824
64393
35307
20271
50946
7046
6682
4155
9167
39288
4118
28214
3102
55745
51742
13489
4373
42107
17359
5452
10275
28614
87772
13363
2995
89511
5398
2485
42650
13513
92104
14201
57541
16870
15205
12830
10369
81105
8789
16749
9947
41676
617
78315
7280
44347
24787
1503
1437
40240
32679
83507
216
64664
252
92106
234
86448
1677
14638
2878
20528
24965

8223
11078
19634

6692
92122

127
36107
40962
10408

6428
14725

3814

1445

4536

4892

8342

6915
91334

1706

8677

2832
11054

1076
57265
80480
58290
38022

7649
88365

4029
88994
54463
17222
27871

2798
18248
12742

5342
10066
35005

4805
93477
17307

7338
87774
49212

2978
11906
38619
17074
42639
82831
54761

8191
57716
47682
14186
87222
63419

8593
50989
17814
50874
55622

1597
59578
94047

4014
30846
33615

6926

9294
32680
78879
20772
64663

148
85879
16748
92201
30741
25801
13995
10267

5436

Klubb

Sundsvallsbridgen
Orebridgen
Partille/MéInlycke BK

BK S:t Erik - Valdemarsviks BK
BK Centrum - BK Lyx

BK S:t Erik

Lunds BK - BK S:t Erik

BK Allians, Halmstad
Bredaryds BK - Varnamo BK
BK Bridgehuset

BK Tre Sang, Helsingborg
Sundsvallsbridgen - Alné BK
Filbyter Bridge

Mariestads BS

Askims BK - Lerums BK
Orebridgen

Visby BK

Orebridgen

Skovde BA

Boras BA

Uppsalabridgen

Malmd BK

Orebridgen

Lunds BK

BK Alert

Luled BK

ABB BK

Skovde BA

BK Sang, Oxel6sund .
ABK Singelton, Askersund - Orebridgen
Kisa BS

Norrorts Bridge

Lindesbergs BS

Hedemora BS - Borlange BK
Géavle BK - Uppsalabridgen
Norrkdpingsbridgen

BK Sang, Oxelésund - Stigtomta BK
BK Bjorken - BK S:t Erik
Boras BA - Skévde BA
Filbyter Bridge
Onsdagsklubben

Malungs BK - Falu BK
Arboga BK

Skoévde BA

Lomma BK

Askims BK - IK Makkabi
Gavle BK

IFK Norrkoping - Kullabygdens BK
BK Bjorken

BK Lyx

Nora BK

Lunds BK
Norrkdpingsbridgen
Harplinge BK

Orebridgen - BK S:t Erik

BS 53, Goteborg - BK Lyx
Norsjo BK

Overums BK

Orebridgen

Véanersborgs BS

BK Bjorken

ABB BK

Askims BK

Vénersborgs BS
Kungsbacka BS - Orebridgen
Orust BK - Uddevalla BF

BK Lavec - Pri-Bri 1936
ABB BK - Fagersta BS
Skdévde BA

Ljungsbro BK - Filbyter Bridge
Filbyter Bridge

Karlskoga BK

Tjorns BK

Karlstads BK

Bjarreds BK

Bjarreds BK

Borlange BK
Norrkdpingsbridgen
Katrineholms BA - Visby BK
Bjarreds BK - Ystads BS

BK Bridgehuset - BS Oden
BK Bridgehuset
Uppsalabridgen

Lunds BK - Ho6rs BK
Munka Ljungby BS
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86 74 13514 46.92 Bertil Blomguvist - Anki Johansson 7823 29219 Orebridgen
87 57 13421 46.60 Christina Oldin - Kerstin Marcusson 25880 16365 Axbergs BK - Orebridgen
88 21 1339.9 46.53 ElsaPersson - Ole J Jensen 11278 26295 Uppharads BK
89 34 1336.6 46.41 Tommy Andersson - Eva Andersson 14659 3585 Uppsalabridgen - Arboga BK
90 118 1334.1 46.32 Pontus Adolfson - Dejana Sverker 12775 50940 Orebridgen
91 27 13139 45.62 Per-Olof Olehn - Gunilla Wallin 5099 48390 BK Zonen - Malmé BK
92 35 1312.0 4556 Jorgen Lundberg - Asa Andersson 7657 7928 ABB BK
93 101 1301.0 45.17 Hans Thorgren - Olle Melin 7926 1052 ABB BK - Uppsalabridgen
94 4 12944 4495 Nicolae Ostner - Charlotte Rudbéck 4465 37098 Lunds BK
95 67 1294.4 44.94 Eva Wilander - Maud Kylinger 87253 31298 Ljungsbro BK - Filbyter Bridge
96 107 1294.4 44.94 Annike Larsson - Stig Ljungqvist 87006 28555 Uddevalla BF
97 100 1290.9 44.82 Christer Gallstrom - Allan Christensen 44292 65809 Katrineholms BA
98 14 1281.7 44.51 Ann-Charlotte Nilsson - Birgitta Bornestav 60863 36526 BK Bjorken - BK Tre Sang, Helsingborg
99 38 1274.4 44.25 Anneli Backman - Veronika Karlsson 40243 61005 Orebridgen - Karlskoga BK
100 6 1270.1 44.10 Sara Haglind - Ingegéard Andersson 57308 2813 Stigtomta BK
101 63 1261.9 43.82 Eva Andersson - Gertrud Lindahl 37990 6091 BK Tre Sang, Helsingborg
102 62 1242.1 43.13 Bengt Hahne - Hans-Olov Gustafsson 3358 5401 BK Bjorken
103 20 1235.0 42.88 Lars Nilsson - Johan Safsten 43950 35452 BK S:t Erik - Uppsalabridgen
104 51 1227.0 42.60 Tord Persson - Per-Ingemar Nilsson 46784 5632 Lomma BK - BK Tre Sang, Helsingborg
105 69 1225.4 4255 Anne-Cathrine Svenning - Stig Unoson 64033 83337 BK Bridgehuset
106 26 12225 42.45 BibiJonsson - Willy Landgren 49337 13541 BS Oden
107 72 1220.4 42.37 Marcus Hjelte - Dan Granberg 84282 6 Uppsalabridgen
108 85 12125 42.10 Berndt-Ake Timan - Andrzej Tracewski 49973 49836 Nykopings BS
109 30 1206.2 41.88 Birgitta Jernbom-Lundberg - Ulla Johansson 30068 84354 BK Bjorken
110 18 1163.8 40.41 Claus Rohnisch - Kerstin Olausson 4081 47056 Orebridgen
111 76 1161.5 40.33 Ove Olofsson - UIf Andersson 30296 48309 Norrkopingsbridgen
112 44 1150.9 39.96 Karl-Erik Nilsson - Lars Marcusson 46221 15446 Orebridgen
113 45 1146.3 39.80 Astrid Engwall - Sanna Stigsson 14027 20773 Bjarreds BK
114 89 1116.0 38.75 Rosemary Palsson - Gunilla Berthagen 57245 57244 BK Tre Sang, Helsingborg
115 8 1090.0 37.85 Jutta Ingvarsson - Mona Hallstrém 78342 92066 BK Tre Sang, Helsingborg - Malmd BK
116 77 1089.8 37.84 Iréne Lindh - Ingebrit Lood 90624 92115 Norrkdpingsbridgen
117 103 1067.3 37.06 Mats Sjoberg - Lars Ericson 1198 12536 Filbyter Bridge - Gavle BK
118 75 1054.5 36.61 Reino Hirvonen - Shaun Jacobsen 17358 49498 BK Tre Sang, Helsingborg - Kullabygdens BK
119 94 1051.8 36.52 Goran Sperber - Carl Engholm 6655 9773 Uppsalabridgen
120 119 1028.3 35.71 Knut Nilsson - Per-Olof Fagerstrom 14021 14026 Bjarreds BK
121 59 1012.0 35.14 Christina Stromberg - Kerstin Wallin 58178 46448 Skogs BK - Sollefted BK
122 39 970.5 33.70 LennartJohansson - Jimmy Herrdin 20178 81411 ABK Singelton, Askersund
1 « Kn10932 Basta kontrakt 2 « Kn953 Basta kontrakt 3 #1098 Basta kontrakt
Nord vK5 64 O =-920 Ost v 974 4v S =620 Syd vK7643 2¢ O =-90
Ingen + KKn53 NS + D1082 ov 41073
+Kn8 & ¢ v & NT *E5 & ¢ v & NT *76 & ¢ v & NT
4 D86 4 K5 N13344 4« D62 «E1074 N9 9 109 9 4DKn54 476 N55 756
vED9863 v 10 S143414 vKn532 v6 S 9 8 108 9 vKn98 vD10 S55756
.- ¢+ ED8742 O 129 108 9 ¢ 654 ¢ KKn97 04 4344 + E52 ¢+ KKn86 0886 77
*EK64 #D532 V 129 108 8 #1087 #Kn963 V44344 #952 #EKKN104 V 7 7 6 7 7
~E74 4 K8 « EK32
vKn742 v EKD108 vE52
+ 1096 +E3 + D94
#1097 *KD42 «D83
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 2 3NV-2 «J 100 117.0 3.0(105 106 3NS+2 v2 660 1200 0.0| 55 26 4¢ O-3 4A 300 120.0 0.0
3 4 3NV-2 «J 100 117.0 3.0( 21 22 4v S+1 &T 650 1170 3.0 9 94 34V-2 4T 200 117.0 3.0
5 6 3NV-2 &7 100 1170 3.0| 33 34 4vS+1 ¢4 650 1170 3.0| 19 40 34DO-1 4A 200 117.0 3.0
7 8 3NV-2 «J 100 1170 3.0| 35 36 3NS+1 46 630 111.0 9.0 81 122 INS+1 44 120 113.0 7.0
9 10 4v V-1 & 50 100.0 20.0| 43 44 3NS+1 v2 630 1110 9.0|109 90 INS+1 45 120 113.0 7.0
11 12 34 V-1 4T 50 100.0 20.0| 45 46 3NS+1 ++6 630 1110 9.0| 7 58 2vS= %9 110 94.0 26.0
13 14 54 V-1 4] 50 100.0 20.0 (115 116 3NS+1 #7 630 111.0 9.0 13 20 2v S= v8 110 94.0 26.0
15 16 640-1 v4 50 1000 20.0| 3 4 4vS= +5 620 70.0 50.0| 15 80 2v S= 45 110 94.0 26.0
17 18 4v V-1 43 50 1000 200| 5 6 4vS= 42 620 70.0 50.0| 17 102 2v N= A 110 94.0 26.0
19 20 5v V-1 &) 50 100.0 200 7 8 4v S= T 620 70.0 50.0| 25 60 2v S= +J 110 94.0 26.0
21 22 3NV-1 & 50 1000 20.0| 9 10 4vS= &7 620 70.0 50.0| 35 30 2v S= 45 110 94.0 26.0
23 24 4v V-1 4] 50 100.0 20.0| 11 12 4v S= 42 620 70.0 50.0| 49 36 2v S= «9 110 94.0 26.0
25 26 540-1 #A 50 100.0 20.0| 15 16 4v S= ¢6 620 70.0 50.0| 57 18 2v S= +Q 110 94.0 26.0
27 28 3NV-1 & 50 100.0 20.0| 19 20 4v S= &7 620 70.0 50.0| 63 108 2v S= ¢+A 110 94.0 26.0
29 30 3NV-1 & 50 100.0 20.0| 25 26 4v S= T 620 70.0 50.0| 71 44 2v S= +5 110 94.0 26.0
31 32 640-1 #A 50 100.0 20.0| 27 28 4v S= 46 620 70.0 50.0| 77 48 2v S= ¢A 110 94.0 26.0
33 34 54V-1 4] 50 100.0 20.0| 29 30 4v S= 42 620 70.0 50.0( 79 6 2v S= «5 110 94.0 26.0
35 36 3« O0+1 &T -130 86.0 34.0| 31 32 4v S= 42 620 70.0 50.0| 83 38 2v S= +5 110 94.0 26.0
37 38 3vV= &J -140 84.0 36.0| 37 38 4v S= T 620 700 50.0| 97 12 2v S= +5 110 94.0 26.0
39 40 34V+2 & -150 82.0 38.0| 39 40 4v S= ¢4 620 70.0 50.0 (107 22 2v S= ¢+A 110 94.0 26.0
41 42 3v V+1 & -170 75.0 45.0| 41 42 4v S= 42 620 70.0 50.0(111 96 2v N= A 110 94.0 26.0
43 44 29 V42 4] -170  75.0 45.0| 49 50 4v S= ¢6 620 70.0 50.0(121 68 2v S= 45 110 94.0 26.0
45 46 3v V+1 & -170  75.0 45.0| 53 54 4v S= +6 620 70.0 50.0| 3 14 3#40-1 4A 100 67.0 53.0
47 48 3v V+1 & -170  75.0 45.0| 55 56 4v S= 42 620 70.0 50.0| 29 100 3#V-1 4T 100 67.0 53.0
49 50 3vV+1l a3 -170 75.0 45.0| 57 58 4v S= +8 620 70.0 50.0| 53 62 3#0-1 4A 100 67.0 53.0
51 52 3v V+1 4T -170  75.0 45.0| 59 60 4v S= 46 620 70.0 50.0| 67 8 3#0-1 v2 100 67.0 53.0
53 54 3NO= &7 -400 59.0 61.0| 61 62 4v S= T 620 70.0 50.0| 75 82 3#0-1 4A 100 67.0 53.0
55 56 3NO= &7 -400 59.0 61.0| 65 66 4v S= *7 620 70.0 50.0| 85 114 2¢ V-1 &T 100 67.0 53.0
57 58 3NO= #A -400 59.0 61.0| 67 68 4v S= &7 620 70.0 50.0| 87 84 3¢ V-1 ¢3 100 67.0 53.0
59 60 3NO= 44 -400 59.0 61.0| 71 72 4v S= +4 620 70.0 50.0| 99 42 3#0-1 4A 100 67.0 53.0
61 62 3NO= &7 -400 59.0 610 75 76 4v S= 42 620 70.0 50.0(105 52 3#0-1 «A 100 67.0 53.0
63 64 3NO=  &T -400 59.0 61.0| 79 80 4v S= 42 620 70.0 50.0(113 118 3#O-1 4A 100 67.0 53.0
65 66 3NO=  &T -400 59.0 61.0| 81 82 4v S= +5 620 70.0 50.0| 1 106 3v S-1 &9 -50 45.0 75.0
67 68 3NO= 44 -400 59.0 61.0| 87 88 4v S= *7 620 700 50.0| 11 2 3vS-1 &5 -50 45.0 75.0
69 70 3NO= 44 -400 59.0 61.0| 91 92 4v S= 8 620 70.0 50.0| 21 28 2vS-1 4Q -50 45.0 75.0
71 72 54 0= 4A -400 59.0 61.0| 93 94 4v S= +6 620 70.0 50.0| 33 104 2v S-1 v8 -50 45.0 75.0
73 74 4v V= aJ -420 37.0 83.0| 95 96 4v S= *7 620 700 50.0| 37 32 2vS-1 +v8 -50 45.0 75.0
75 76 4v V= L) -420 37.0 83.0| 97 98 4v S= ¢4 620 70.0 50.0| 43 70 2v S-1 &2 -50 45.0 75.0
77 78 54 0+1 4A -420 37.0 83.0| 99 100 4v S= ¢+6 620 70.0 50.0| 73 4 2vS-1 v9 -50 45.0 75.0
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79 80 4v V= e -420 37.0 83.0(103 104 4v S= 42 620 70.0 50.0| 91 66 2v S-1 4Q -50 45.0 75.0
81 82 4v V= e -420 37.0 83.0(109 110 4v S= &T 620 70.0 50.0| 93 64 2vS-1 8 -50 45.0 75.0
83 84 4v V= s -420  37.0 83.0(111 112 4v S= &7 620 70.0 50.0|103 10 INS-1 «Q -50 45.0 75.0
85 86 4v V= e -420 37.0 83.0(113 114 4v S= +4 620 70.0 50.0|117 76 3v S-1 &2 -50 45.0 75.0
87 88 4v V= e -420 37.0 83.0(117 118 4v S= a2 620 70.0 50.0|119 78 2v S-1 &2 -50 45.0 75.0
89 90 S54V+1l & -420 370 830| 83 84 3NS= &7 600 30.0 90.0 5 92 4v N-2 &A -100 18.0 102.0
91 92 4v V= &J -420 370 83.0| 85 86 3NN= &3 600 30.0 90.0| 23 54 3vS-2 4Q -100 18.0 102.0
93 94 4v V= e -420 37.0 83.0(101 102 3NS= +5 600 30.0 90.0| 27 74 3vS-2 &2 -100 18.0 102.0
95 96 54 O+1 &A -420 37.0 83.0 1 2 5vS-1 ¢5 -100  18.0 102.0| 31 98 3v S-2 &2 -100 18.0 102.0
97 98 3NO+1 o4 -430  17.0 103.0| 13 14 3NN-1 #3 -100  18.0 102.0| 39 46 3vDS-1 ¢+A -100 18.0 102.0
99 100 3NO+1 44 -430  17.0 103.0| 17 18 4v S-1 a2 -100 18.0 102.0| 41 34 2vS-2 +2 -100 18.0 102.0
101 102 3NO+1 #4 -430  17.0 103.0| 47 48 4v S-1 &7 -100 18.0 102.0| 45 112 1 S-2 8 -100 18.0 102.0
103 104 3NO+1 44 -430 17.0 103.0| 63 64 3NN-1 %6 -100 18.0 102.0| 47 110 3v S-2 8 -100 18.0 102.0
105 106 3NO+1 &T -430 17.0 103.0| 69 70 3NS-1 +4 -100 18.0 102.0| 51 24 3v S-2 &2 -100 18.0 102.0
107 108 3NO+1 4A -430  17.0 103.0| 73 74 4v S-1 &T -100 18.0 102.0| 61 86 2v S-2 4Q -100 18.0 102.0
109 110 3BNO+1 v2 -430  17.0 103.0| 77 78 4v S-1 &7 -100  18.0 102.0| 65 72 24 S-2 &2 -100 18.0 102.0
111 112 3NO+1 &T -430 17.0 103.0|107 108 3NS-1 &7 -100 18.0 102.0| 69 116 INDS-1 &5 -100 18.0 102.0
113 114 6+ O = v4 -920 40 1160 23 24 6vy S-2 +4 -200 5.0 115.0| 89 88 3v S-2 &2 -100 18.0 102.0
115 116 64 O = s A -920 40 1160 89 90 44 N-2 &6 -200 5.0 115.0|101 56 4v N-2 &A -100 18.0 102.0
117 118 6+ O = s A -920 4.0 116.0 (119 120 6v S-2 &7 -200 5.0 115.0|115 50 3v S-2 49 -100 18.0 102.0
119 120 6+ O = vJ -920 4.0 116.0 (121 122 6v S-2 +4 -200 5.0 115.0| 59 120 3# O = &K -110 2.0 118.0
121 122 64 O = &T -920 40 1160 51 52 6NN-3 ¢7 -300 0.0 1200 95 16 2NO= s A -120 0.0 120.0
4 « D53 Basta kontrakt 5 « 104 Basta kontrakt 6 & K7653 Basta kontrakt
Vast v EKD72 3NT N =600 Nord v EDKn9432 64 O =-980 Ost v D106 3NT S =400
Alla +3 NS +108 ov + D108
&ED109 & ¢ v & NT &Kn5 & ¢ v & NT K9 & ¢ v & NT
a74 & KKn102 N9 7 999 4EK98 D732 N11712 a2 4EKN1084 N 6 58 7 9
v 105 v 9863 S87 9909 v- v7 S11712 v K94 v32 S658709
¢ ED7652 ¢K O46 3 44 ¢ KKn53 ¢ E9642 O 12126 126 ¢ EKn9643 ¢ 52 O6 756 4
K83 &#Kn764 V46444 #K8743 #»E62 V 12126 126 #1085 &E763 V675%614
« E986 & Kn65 «D9
v Kn4 v K10865 v EKn875
+ Kn10984 + D7 * K7
&52 D109 &DKn42
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
113 118 34DV -4 vA 1100 120.0 0.0 3 20 74 O-1 v¥5 50 120.0 0.0| 25 120 4¢DV-2 v6 500 119.0 1.0
37 32 2¢DV-3 vA 800 114.0 6.0| 65 44 29 S-1 &3 -100 118.0 20| 73 14 3¢DV-2 vQ 500 119.0 1.0
59 120 3¢DV-3 vA 800 114.0 6.0| 69 50 3#V+3 YA -170 115.0 50| 55 60 4v S= a2 420 115.0 5.0
87 84 2¢DV-3 vA 800 114.0 6.0|115 36 4¢ O+2 v5 -170 115.0 501101 26 4v S= vyK 420 115.0 5.0
105 52 2¢DV-3 vA 800 114.0 6.0|101 26 4v N-2 &A -200 112.0 8.0 1 52 24 O-3 #4 300 111.0 9.0
117 76 2¢DV-3 vA 800 114.0 6.0 7 18 4vy N-3 ¢A -300 104.0 16.0( 67 58 24 O-3 #Q 300 111.0 9.0
103 10 3NS+2 2 660 108.0 12.0| 15 6 4vy N-3 &A -300 104.0 16.0( 21 74 34 O-2 <vA 200 103.0 17.0
1 106 3NS+1 +¢6 630 104.0 16.0| 23 62 4y N-3 &2 -300 104.0 16.0| 35 100 24DO-1 vA 200 103.0 17.0
73 4 3NS+1 #3 630 104.0 16.0| 31 12 4v N-3 &3 -300 104.0 16.0| 43 116 3¢DV-1 T 200 103.0 17.0
95 16 3NS+1 T 630 104.0 16.0( 79 92 4vy N-3 43 -300 104.0 16.0( 61 114 4¢ V-2 vQ 200 103.0 17.0
3 14 4v N= +K 620 97.0 23.0|103 94 4v N-3 43 -300 104.0 16.0( 89 84 3#0-2 <vA 200 103.0 17.0
13 20 4vy N= +K 620 97.0 23.0|105 24 4vy N-3 43 -300 1040 16.0| 97 2 24 O-2 #Q 200 103.0 17.0
97 12 4v N= +K 620 97.0 23.0| 87 38 5v N-4 +A -400 96.0 24.0 7 18 3v S= 42 140 93.0 27.0
109 90 4v N= 42 620 97.0 23.0| 63 22 5¢ O+1 ¥5 -420 940 26.0| 33 10 3v S= 42 140 93.0 27.0
15 80 3NS= «7 600 86.0 34.0|107 28 44 V+1 YA -450 920 28.0| 49 30 3vS= 42 140 93.0 27.0
39 46 3NS= 47 600 86.0 34.0 1 52 44 O+2 ¥5 -480 57.0 63.0(103 94 3v S= 42 140 93.0 27.0
43 70 3NS= vT 600 86.0 34.0 5 66 44 V+2 44 -480 570 63.0| 11 106 2v S= +J 110 84.0 36.0
57 18 3NS= +5 600 86.0 34.0| 11 106 44 O+2 v6 -480 57.0 63.0| 39 112 2v S= 42 110 84.0 36.0
71 44 3NS= 47 600 86.0 34.0| 13 40 44 V+2 T -480 570 63.0| 59 78 2v S= 42 110 84.0 36.0
119 78 3NS= +6 600 86.0 34.0| 17 56 44 O+2 v5 -480 570 63.0| 63 22 2v S= 42 110 84.0 36.0
121 68 3NS= +5 600 86.0 34.0| 19 46 44 O+2 ¥6 -480 57.0 63.0(105 24 2v S= 42 110 84.0 36.0
5 92 2¢DV-2 vK 500 75.0 45.0| 25 120 44 O+2 ¢vK -480 570 63.0|113 76 3¢ V-1 v6 100 78.0 420
41 34 2¢DV-2 vA 500 75.0 450| 27 4 44 O+2 vK -480 57.0 63.0 5 66 4v S-1 a2 -50 56.0 64.0
83 38 2¢DV-2 vA 500 75.0 45.0| 29 42 464 V+2 ©vA -480 57.0 63.0 9 64 3vS-1 a2 -50 56.0 64.0
91 66 2¢DV-2 vQ 500 75.0 45.0| 35 100 44 V+2 &] -480 57.0 63.0| 13 40 4v S-1 a2 -50 56.0 64.0
29 100 2¢DV-1 vA 200 69.0 51.0| 37 98 54 O+1 +Q -480 570 63.0| 15 6 3vS-1 a2 -50 56.0 64.0
79 6 2¢ V-2 vA 200 69.0 51.0| 41 104 44 V+2 YA -480 57.0 63.0| 19 46 3v S-1 a2 -50 56.0 64.0
45 112 3vy N+1 T 170 640 56.0| 43 116 44 O+2 v6 -480 570 63.0| 23 62 3vS-1 +¢A -50 56.0 64.0
51 24 3vy N+1 &T 170 64.0 56.0| 49 30 44 O+2 +8 480 570 63.0| 27 4 4v S-1 a2 -50 56.0 64.0
55 26 3y N+1 ¢K 170 64.0 56.0| 51 54 44 V+2 ©vA -480 57.0 63.0| 29 42 3vS-1 a2 -50 56.0 64.0
9 94 2v N+1 K 140 53.0 67.0| 53 86 44 V+2 &] -480 57.0 63.0| 37 98 24 N-1 +5 -50 56.0 64.0
21 28 2y N+1 ¢K 140 53.0 67.0| 55 60 44 O+2 ¥8 -480 57.0 63.0| 41 104 4v S-1 &5 -50 56.0 64.0
25 60 2y N+1 ¢K 140 53.0 67.0| 57 102 44 O+2 ¥5 -480 57.0 63.0| 47 90 3v S-1 a2 -50 56.0 64.0
27 74 3v N= ¢K 140 53.0 67.0| 61 114 44 O+2 vK -480 570 63.0| 65 44 INS-1 +6 -50 56.0 64.0
67 8 3vyN= +K 140 53.0 67.0| 67 58 44 O+2 ¥5 -480 570 63.0| 71 70 3v S-1 a2 -50 56.0 64.0
93 64 3vy N= ¢K 140 53.0 67.0| 71 70 44 O+2 ¥5 -480 57.0 63.0| 75 122 3v S-1 a2 -50 56.0 64.0
107 22 3v N= ¢+K 140 530 67.0| 73 14 44 O+2 ¥5 -480 57.0 63.0| 85 118 4v S-1 a2 -50 56.0 64.0
111 96 3v N= +K 140 53.0 67.0| 75 122 44 O+2 45 -480 570 63.0| 91 72 3vS-1 a2 -50 56.0 64.0
17 102 24 S= 7 110 37.0 83.0| 83 32 44 O+2 ¥5 -480 57.0 63.0| 93 108 3v S-1 a2 -50 56.0 64.0
19 40 2v N= ¢K 110 370 83.0| 89 84 44 O+2 ¥5 -480 57.0 63.0| 99 34 3vS-1 a2 -50 56.0 64.0
47 110 1v N+1 K 110 370 83.0| 91 72 44 O+2 ¥5 -480 57.0 63.0|107 28 3v S-1 a2 -50 56.0 64.0
61 86 2v N= ¢K 110 37.0 83.0| 93 108 44 O+2 ¥5 -480 57.0 63.0|109 88 4v S-1 a2 -50 56.0 64.0
65 72 2v N= v9 110 37.0 83.0| 95 80 44 V+2 oT -480 57.0 63.0|111 16 4v S-1 a2 -50 56.0 64.0
69 116 2v N= ¢K 110 370 83.0| 97 2 44 O+2 v¢K -480 57.0 63.0 3 20 4v S-2 a2 -100 20.0 100.0
99 42 2v N= ¢K 110 37.0 83.0| 99 34 44 O+2 ¥5 -480 57.0 63.0| 17 56 4v S-2 42 -100 20.0 100.0
101 56 2v N= v6 110 37.0 83.0|109 88 44 O+2 ¥5 480 57.0 63.0| 31 12 4v S-2 a2 -100 20.0 100.0
7 58 4v N-1 K -100 23.0 97.0(113 76 54 V+1 T -480 57.0 63.0| 45 96 4v S-2 a2 -100 20.0 100.0
23 54 44 N-1 ¢K -100 23.0 97.0 (117 82 44 O+2 ¥5 -480 57.0 63.0| 51 54 4v S-2 a2 -100 20.0 100.0
35 30 4vy N-1 +¢K -100 23.0 97.0|119 48 44 O+2 vK -480 57.0 63.0| 53 86 4v S-2 a2 -100  20.0 100.0
75 82 34 S-1 &7 -100 230 97.0| 33 10 4vDN-3 ¢A -800 19.0 101.0| 57 102 4v S-2 a2 -100 20.0 100.0
77 48 24 S-1 +A -100 23.0 97.0| 39 112 4vDN-3 ¢A -800 19.0 101.0| 69 50 4v S-2 a2 -100 20.0 100.0
85 114 44 S-1 &7 -100 23.0 97.0|111 16 4vDN-3 43 -800 19.0 101.0| 79 92 4v S-2 a2 -100  20.0 100.0
31 98 4vy N-2 3 -200 9.0 111.0 (121 8 4vDN-3 42 -800 19.0 101.0| 81 68 4v S-2 a2 -100 20.0 100.0
33 104 4v N-2 v6 -200 9.0 111.0 9 64 64 O= v5 920 14.0 106.0| 83 32 4v S-2 +A -100 20.0 100.0
49 36 4v N-2 v6 -200 9.0 111.0| 21 74 64 O= v5 -980 8.0 112.0| 87 38 4v S-2 a2 -100  20.0 100.0
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53 62 4vy N-2 +¢K -200 9.0 111.0| 45 96 64 O= vK -980 8.0 1120 95 80 3v S-2 a2 -100  20.0 100.0
63 108 4v N-2 +¢K -200 9.0 111.0| 59 78 64 O= +Q -980 8.0 112.0(117 82 4v S-2 &2 -100 20.0 100.0
81 122 4vy N-2 +¢K -200 9.0 111.0| 77 110 64 O= v6 -980 8.0 112.0|121 8 4vy S-2 42 -100 20.0 100.0
89 88 4vy N-2 +¢K -200 9.0 111.0| 85 118 64 O = v5 -980 8.0 1120 77 110 3¢ V= v6 -110 4.0 116.0
115 50 4v N-2 ¢K -200 9.0 111.0| 47 90 5vDN-4 3 -1100 1.0 119.0 (119 48 4v S-3 +¢A -150 2.0 118.0
11 2 4v N-3 ¢K -300 0.0 120.0| 81 68 5vDS-4 «A -1100 1.0 119.0 (115 36 4vyDS-2 &2 -300 0.0 120.0
7 4632 Basta kontrakt 8 & EDKn4 Basta kontrakt 9 & EK5 Basta kontrakt
Syd v KKn83 3v S =140 Vast v 106 4v V =-420 Nord v K87 3v N =140
Alla +3 Ingen + Kn6 ov 462
&#KDKn94 & ¢ v & NT #K10875 & ¢ v & NT &#EKnNn987 & ¢ v & NT
D75 &K984 N9 4946 &52 & K763 N85 376 #7432 & DKn9 N 105 9 7 8
vE75 v62 S 94947 vKn982 v EK754 S85376 v D5 v Kn963 S 105 9 7 8
¢KKn5 ¢E108764 O 4 9 3 7 4 ¢ E8432 ¢ K7 O5 8 106 7 ¢ ED94 ¢ K10873 03845 4
#8752 &6 V49 374 92 &D3 V 5 8 106 7 &D52 10 V 38454
& EKn10 41098 #1086
v D1094 vD3 v E1042
+ D92 + D1095 ¢+ Kn5
#E103 &EKn64 K643
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 40 3vyDN+2 &6 1130 120.0 00| 81 8 34 N= vK 140 120.0 0.0| 55 78 INN+5 &Q 240 120.0 0.0
13 46 3vyDN= &6 730 118.0 20| 47 88 34 N-1 vA -50 118.0 20| 29 104 INN+4 ¢33 210 117.0 3.0
7 102 4v S+1 v5 650 112.0 80| 23 86 34DN-1 vK -100 112.0 8.0|113 122 INN+4 ¢7 210 117.0 3.0
15 92 4vy N+1 &6 650 112.0 80| 37 12 44 N-2 ©vA -100 112.0 8.0 3 46 2NN+2 &T 180 109.0 11.0
49 100 4v N+1 6 650 112.0 8.0| 49 100 44 N-2 ©vA -100 112.0 80| 51 86 2NN+2 ¥3 180 109.0 11.0
55 120 4v S+1 ¥5 650 112.0 80| 71 116 44 N-2 ©vA -100 112.0 8.0| 65 116 2NN+2 8 180 109.0 11.0
95 6 4vy N+1 &6 650 112.0 8.0|113 82 44 N-2 ¢K -100 112.0 80| 69 30 2NN+2 v6 180 109.0 11.0
5 72 4v N= &6 620 940 26.0| 17 26 3v O= +9 -140 1040 16.0| 81 58 INN+3 ¢7 180 109.0 11.0
9 108 4v S= +5 620 940 26.0| 63 28 2v O+1 &A -140 104.0 16.0|117 68 INN+3 v6 180 109.0 11.0
21 4 4v N= &6 620 940 26.0| 93 22 2vO+1 ¥3 -140 1040 16.0| 17 60 INN+2 &J 150 95.0 25.0
23 86 4v S= &5 620 94.0 26.0 1 24 3vO+1 +9 -170 69.0 51.0| 23 114 INN+2 7 150 95.0 25.0
45 16 4v S= 5 620 94.0 26.0 7 102 3v O+1 T -170 69.0 51.0| 33 64 2NN+1 &Q 150 95.0 25.0
47 88 4v N= &6 620 94.0 26.0 9 108 3v O+1 T -170 69.0 510| 35 34 2NN+1 «Q 150 95.0 25.0
61 118 4v N= &6 620 940 26.0| 15 92 2¢v V+2 ¢ -170 69.0 51.0| 57 26 2NN+1 ¥3 150 95.0 25.0
79 66 4v N= &6 620 940 26.0| 19 112 3vy O+1 &T -170 69.0 51.0| 77 88 INN+2 &Q 150 95.0 25.0
81 8 4v N= &6 620 940 26.0| 25 78 3v O+1 4T -170 69.0 510| 79 72 INN+2 «Q 150 95.0 25.0
83 98 4v S= &5 620 94.0 26.0| 27 14 2v O+2 48 -170 69.0 51.0(121 18 INN+2 4Q 150 95.0 25.0
87 32 4v S= 5 620 940 26.0| 31 2 3vO+1 T -170 69.0 51.0(107 4 3v S= 4 140 86.0 34.0
99 104 4v S= 5 620 940 26.0| 35 42 29y O+2 T -170  69.0 51.0 7 56 3« N+1 «Q 130 84.0 36.0
115 30 4vy N= &6 620 940 26.0| 43 50 29 O+2 &T -170 69.0 51.0| 15 66 INN+1 3 120 65.0 55.0
43 50 3NS= +5 600 79.0 41.0| 51 62 3vV+l 46 -170 69.0 51.0| 27 20 INN+1 3 120 65.0 55.0
113 82 3NS= &7 600 79.0 41.0| 53 114 3v O+1 +9 -170 69.0 51.0| 37 2 2NN= «Q 120 65.0 55.0
91 44 34 0-4 v9 400 76.0 44.0| 55 120 3v O+1 A -170 69.0 510| 39 16 INN+1 ¢3 120 65.0 55.0
17 26 4¢ O-2 &A 200 71.0 49.0| 61 118 3vy O+1 A -170 69.0 51.0| 41 94 INN+1 3 120 65.0 55.0
19 112 3vy N+2 &6 200 710 49.0| 65 70 3v O+1 T -170  69.0 51.0| 45 80 2NN= +3 120 65.0 55.0
41 10 2v N+3 &6 200 710 49.0| 69 36 2v O+2 &T -170 69.0 51.0| 49 42 INN+1 7 120 65.0 55.0
63 28 3vyS+2 ¢J 200 710 49.0| 73 20 3v O+1 &A -170 69.0 51.0| 67 102 INN+1 7 120 65.0 55.0
11 52 3vyS+1 5 170 46.0 740 75 68 3v O+1 &A -170 69.0 510| 75 8 INN+1 3 120 65.0 55.0
25 78 3vy S+1 &5 170 46.0 740| 85 76 3v O+1 &T 170 69.0 51.0| 87 98 INN+1 4Q 120 65.0 55.0
27 14 2y N+2 &6 170 46.0 74.0| 87 32 3v O+1 &A -170 69.0 51.0| 89 32 2NN= +3 120 65.0 55.0
33 94 3y N+1 &8 170 46.0 74.0| 89 38 1v O+3 &T -170 69.0 51.0| 91 70 INN+1 3 120 65.0 55.0
35 42 2vy N+2 &6 170 46.0 74.0| 91 44 3v O+l #A -170  69.0 51.0| 95 92 2NN= +8 120 65.0 55.0
51 62 2y N+2 &6 170 46.0 740 95 6 3vO+1 ¢5 -170 69.0 51.0|101 120 INN+1 8 120 65.0 55.0
53 114 3vy S+1 v5 170 46.0 74.0| 97 106 2v O+2 &T -170 69.0 51.0|105 62 INN+1 7 120 65.0 55.0
57 56 3y N+1 &6 170 46.0 74.0| 99 104 3v O+1 #A -170  69.0 51.0|109 38 2NN= +8 120 65.0 55.0
59 48 2v S+2 ¢5 170 46.0 74.0(101 60 3v O+1 &T -170 69.0 510|111 6 INN+1 3 120 65.0 55.0
65 70 3vy S+1 v5 170 46.0 74.0(103 64 3v O+1 ¥3 -170  69.0 51.0|115 100 INN+1 3 120 65.0 55.0
67 18 3y N+1 &6 170 46.0 74.0|107 74 3v O+1 oT 170 69.0 51.0| 11 24 2#N+1 «Q 110 440 76.0
71 116 2vy N+2 &6 170 46.0 74.0(109 84 2v O+2 &T -170  69.0 51.0| 47 84 2v S= &2 110 440 76.0
73 20 3y N+1 &6 170 46.0 74.0(115 30 3v O+1 #»A -170 69.0 51.0| 61 76 3& N= «Q 110 440 76.0
75 68 3vS+1 &5 170 46.0 74.0|119 110 2v O+2 T -170  69.0 51.0 1 54 INN= 7 90 30.0 90.0
77 90 2vy N+2 &6 170 46.0 74.0(121 58 3v O+1 &T -170 69.0 51.0 5 44 INN= 7 90 30.0 90.0
97 106 2v N+2 &6 170 46.0 74.0 3 40 29y O+3 T -200  29.0 91.0 9 22 INN= +3 90 30.0 90.0
105 54 2vy N+2 &6 170 46.0 74.0| 21 4 3v O+2 oT 200 29.0 91.0| 19 96 INN= +3 90 30.0 90.0
107 74 3vS+1 5 170 46.0 740 33 94 2v O+3 T -200  29.0 91.0| 25 48 INN= 7 90 30.0 90.0
117 122 3vy N+1 &6 170 46.0 74.0| 45 16 2v V+3 4A -200  29.0 91.0| 31 106 INN= 7 90 30.0 90.0
119 110 3v S+1 5 170 46.0 740 57 56 29y O+3 T 200 29.0 91.0| 43 36 INN= 7 90 30.0 90.0
121 58 3vy N+1 &6 170 46.0 740 83 98 2v V+3 ¢J 200 29.0 91.0| 71 50 INN= +3 90 30.0 90.0
85 76 INS+2 &2 150 240 96.0|105 54 3v O+2 4T 200 29.0 91.0| 85 82 INN= 7 90 30.0 90.0
31 2 2y N+1 &6 140 20.0 100.0 {117 122 3y O+2 &T 200 29.0 91.0| 99 10 INN= +3 90 30.0 90.0
89 38 2vS+1 ¢J 140 20.0 100.0 5 72 54DN-2 ¢vK -300 20.0 100.0|103 108 INN= +3 90 30.0 90.0
101 60 3v N= &6 140 20.0 100.0| 39 96 4y O= aT -420 140 106.0| 13 112 3« S-1 43 -50  11.0 109.0
37 12 INS+1 ¥5 120 16.0 1040 41 10 4v O= SA -420 14.0 106.0| 21 14 2NN-1 7 -50 11.0 109.0
1 24 49 S-1 &5 -100 8.0 112.0| 59 48 4v O= aT -420  14.0 106.0| 53 118 2NN-1 +3 -50  11.0 109.0
29 34 4v S-1 +K -100 8.0 112.0| 67 18 4v O= 48 -420  14.0 106.0| 59 110 2v S-1 «4 -50  11.0 109.0
39 96 4vy N-1 %6 -100 8.0 112.0| 77 90 4v O= &4 -420 140 106.0| 63 74 2NN-1 3 -50 11.0 109.0
93 22 4v S-1 %8 -100 8.0 1120 11 52 44#DS-3 v8 -500 6.0 114.0| 73 40 2NN-1 3 -50  11.0 109.0
103 64 4v S-1 &5 -100 8.0 1120 13 46 5#4DN-3 vA -500 6.0 114.0| 93 28 2NN-1 8 -50  11.0 109.0
109 84 4v S-1 v5 -100 8.0 1120|111 80 5#DS-3 v8 -500 6.0 114.0(119 90 2NN-1 3 -50 11.0 109.0
111 80 4v S-1 &8 -100 8.0 1120 29 34 64DN-4 vA -800 2.0 1180 97 52 44 N-2 «4Q -100 2.0 118.0
69 36 44 S-3 &2 -300 0.0 1200 79 66 44DN-6 ¥vK -1400 0.0 120.0| 83 12 2¢DO= +¢J -180 0.0 120.0
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10 4 ED7 Basta kontrakt 11 4 KKn1075 Basta kontrakt 12 a5 Basta kontrakt
Ost v9 3¢ O =-110 Syd v4 34 SD-1-100 Vast v EKDKn1054 5¢v N =650
Alla ¢+ ED105 Ingen 4972 NS ¢E75
#KKn1062 & ¢ v & NT #E1032 & ¢ v & NT #98 & ¢ v & NT
a2 «K108643 N 7 4 8 5 5 & 82 » 96 N75387 ~Kn842 4103 N 7 9 11108
vD7 v EK8 S6 4745 vK9865 vE1032 S75387 v32 v 976 S 7 9 11108
¢ Kn9742 ¢+ K86 06 9577 +83 ¢EKKN104 O 6 8 9 4 5 492 + DKn864 06 4021
#D8543 #E V69577 #KD96 #54 V68945 #EKN764 #K32 V64021
& Kn95 4 ED43 » EKD976
v Kn1065432 v DKn7 v8
+3 + D65 + K103
»97 *Kn87 #D105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
71 50 5¢DV-5 v9 1400 1200 0.0| 73 46 34aDN= ¢A 530 1200 0.0 5 70 6vy N+1 v6 1460 115.0 5.0
75 8 3NN+1 48 630 1180 2.0| 95 66 5vDV-2 47 300 1180 2.0| 19 16 6v N+1 ¢Q 1460 115.0 5.0
11 24 34 O-3 &9 300 111.0 9.0f 53 76 4¢ O-3 vQ 150 116.0 4.0| 21 20 6v N+1 ¢Q 1460 1150 5.0
31 106 34 O-3 ¢33 300 111.0 9.0| 3 112 24 N+1 ¢A 140 110.0 10.0| 25 110 6v N+1 v7 1460 115.0 5.0
61 76 2#0O0-3 ¢3 300 111.0 9.0| 23 118 34 S= K 140 110.0 10.0| 93 74 6v N+1 ¢Q 1460 115.0 5.0
81 58 34 O-3 49 300 111.0 90| 79 44 34 N= ¢A 140 110.0 10.0|107 14 6v N+1 v9 1460 1150 5.0
95 92 34 O-3 3 300 111.0 9.0| 85 122 24 N+1 ¢A 140 1100 10.0| 83 2 6NS= +9 1440 108.0 12.0
101 120 44 O-3 ¢3 300 111.0 9.0(117 8 24 N+1 &5 140 110.0 10.0| 37 106 3NN+4 ¢6 720 104.0 16.0
3 46 34 0-2 3 200 96.0 24.0| 35 104 24 N= ¢A 110 99.0 21.0| 67 56 3NN+4 ¢4 720 1040 16.0
25 48 24 O-2 ¢33 200 96.0 24.0| 41 64 24 N= ¢A 110 99.0 21.0(113 68 3NN+4 ¢Q 720 104.0 16.0
35 34 24 O-2 3 200 96.0 24.0| 49 34 24 N= ¢A 110 99.0 21.0| 1 62 4v N+3 ¢J 710 82.0 38.0
47 84 44DO-1 ¢3 200 96.0 24.0| 71 36 24 N= ¢A 110 99.0 21.0| 3 112 5¢vN+2 ¢Q 710 82.0 38.0
49 42 24 0-2 +3 200 96.0 24.0(111 92 24 N= ¢A 110 99.0 21.0| 13 96 5v N+2 ¢Q 710 82.0 38.0
79 72 3¢ V-2 v9 200 96.0 24.0(113 68 24 N= ¢A 110 99.0 21.0| 15 72 4v N+3 ¢Q 710 82.0 38.0
85 82 34DO-1 #9 200 96.0 24.0| 11 54 5vV-2 7 100 90.0 30.0| 17 120 4v N+3 T 710 82.0 38.0
97 52 34 0-2 ¢3 200 96.0 24.0| 93 74 4vDV-1 «T 100 90.0 30.0| 23 118 4v N+3 43 710 82.0 38.0
111 6 24 0-2 #9 200 96.0 24.0(107 14 4¢ O-2 vQ 100 90.0 30.0| 27 40 4vy N+3 ¢Q 710 82.0 38.0
9 22 2vy N+1 &A 140 85.0 350| 27 40 5vV-1 &A 50 82.0 38.0| 47 38 4vy N+3 ¢Q 710 82.0 38.0
41 94 3v S= 42 140 85.0 35.0| 31 52 4v V-1 3 50 82.0 38.0| 51 114 4v N+3 T 710 82.0 38.0
5 44 3#N-= vA 110 82.0 38.0| 69 100 4v V-1 ¢2 50 82.0 38.0| 55 48 4v N+3 T 710 82.0 38.0
13 112 34 O-1 #9 100 710 49.0| 99 94 4v V-1 45 50 82.0 38.0| 57 60 4vy N+3 ¢J 710 82.0 38.0
15 66 3¢ V-1 v9 100 71.0 49.0(101 78 4v V-1 &T 50 820 38.0| 63 4 4y N+3 ¢J 710 82.0 38.0
27 20 34 0-1 3 100 71.0 490 9 28 44 S-1 K -50 63.0 57.0| 65 50 4y N+3 T 710 82.0 38.0
59 110 24 O-1 &9 100 71.0 49.0| 17 120 34 N-1 ¢A -50 63.0 57.0( 71 36 4vy N+3 v7 710 82.0 38.0
69 30 24 O-1 &9 100 71.0 49.0| 19 16 34 N-1 +A 50 63.0 57.0| 73 46 4y N+3 +Q 710 82.0 38.0
77 88 24 O-1 #9 100 71.0 49.0| 25 110 34 S-1 +38 -50 63.0 57.0| 81 18 4vyN+3 +Q 710 82.0 38.0
91 70 24 O-1 3 100 710 49.0|1 29 10 34 S-1 +8 -50 63.0 57.0( 87 12 4vy N+3 ¢Q 710 82.0 38.0
93 28 24 O-1 &9 100 71.0 49.0| 47 38 44 N-1 +A 50 63.0 57.0| 99 94 4y N+3 +Q 710 82.0 38.0
99 10 24 O-1 #9 100 71.0 49.0| 55 48 44 S-1 #K -50 63.0 57.0(121 102 4v N+3 +Q 710 82.0 38.0
121 18 34 O-1 49 100 71.0 49.0| 57 60 34 N-1 ¢K -50 63.0 57.0( 11 54 4vy N+2 ¢Q 680 56.0 64.0
53 118 2NN-1 43 -100 60.0 60.0| 59 90 44 S-1 «K -50 63.0 570 45 6 4vyN+2 v6 680 56.0 64.0
23 114 24 O= &9 -110 540 66.0| 81 18 34 N-1 K 50 63.0 57.0( 49 34 4vy N+2 T 680 56.0 64.0
105 62 24 O= ¢3 -110 54.0 66.0( 87 12 44 S-1 &K -50 63.0 57.0( 61 82 4vy N+2 ¢J 680 56.0 64.0
113 122 24 O= 3 -110 540 66.0| 97 24 24 N-1 +A -50 63.0 57.0| 69 100 4v N+2 +Q 680 56.0 64.0
115 100 24 O= 3 -110 540 66.0|109 32 44 N-1 K -50 63.0 57.0( 77 84 4vy N+2 +Q 680 56.0 64.0
117 68 24 O= 3 -110 54.0 66.0(115 42 44 S-1 &K -50 63.0 57.0(119 88 4vy N+2 T 680 56.0 64.0
21 14 24 O+1 #9 -140 440 76.0| 1 62 44 S-2 v6 -100 330 87.0| 7 26 4vS+1 &6 650 410 79.0
33 64 24 O+1 vJ -140 440 76.0| 7 26 44 S-2 8 -100 33.0 87.0| 33 108 5v N= #2 650 410 79.0
43 36 24 O+1 &7 -140 440 76.0( 13 96 44 N-2 ¢A -100 330 870| 75 58 4vy N+1 &K 650 41.0 79.0
63 74 24 O+1 #9 -140 440 76.0| 33 108 34 N-2 ¢A -100 330 87.0| 85 122 4v S+1 #A 650 410 79.0
67 102 24 O+1 #9 -140 440 76.0| 39 80 44 N-2 ¢A -100 330 87.0| 91 116 4v N+1 &K 650 410 79.0
1 54 34 O+1 49 -170  36.0 84.0( 43 30 44 N-2 ¢A -100 330 87.0| 97 24 44 S+1 +9 650 41.0 79.0
65 116 34 O+1 %9 -170  36.0 84.0| 51 114 34 N-2 ¢A -100 33.0 87.0|111 92 4v N+1 &2 650 410 79.0
89 32 34 O+1 9 -170 36,0 84.0| 63 4 34S-2 +8 -100 33.0 87.0|117 8 4v S+1 #A 650 410 79.0
17 60 4v S-2 42 200 28.0 92.0| 65 50 44 S-2 42 -100 33.0 87.0( 89 98 44 S= +9 620 28.0 92.0
55 78 4v S-2 42 -200 280 92.0| 67 56 44 N-2 ¢A -100 330 87.0| 95 66 44 S= *A 620 28.0 92.0
87 98 4v S-2 42 -200 28.0 92.0| 75 58 44DN-1 ¢K -100 33.0 87.0|103 22 44 S= A 620 28.0 92.0
103 108 3NN-2 44 200 28.0 920 83 2 44 N-2 ¢A -100 33.0 87.0(109 32 44 S= v3 620 28.0 92.0
119 90 3NN-2 «4 -200 28.0 92.0| 89 98 34 N-2 ¢A -100 33.0 87.0|115 42 44 S= A 620 28.0 92.0
57 26 3NN-3 46 -300 220 98.0| 91 116 44 S-2 +8 -100 330 87.0| 9 28 6NS-1 #A -100 13.0 107.
73 40 4v S-4 42 -400 20.0 100.0 (103 22 44 S-2 +8 -100 33.0 870 29 10 6NS-1 &A -100 13.0 107.0
19 96 2#DN-2 vA -500 15.0 105.0 (119 88 44 S-2 +8 -100 330 87.0| 31 52 3NS-1 #4 -100 13.0 107.0
45 80 4vDS-2 42 -500 15.0 105.0| 77 84 3v V= +9 -140 16.0 104.0| 35 104 6NS-1 #A  -100 13.0 107.0
83 12 3vDS-2 «2 -500 15.0 1050 45 6 44 N-4 v2 -200  14.0 1060 39 80 6NS-1 &A -100 13.0 107.0
109 38 4vDS-2 42 -500 15.0 1050| 5 70 44aDN-2 ¢A -300 10.0 110.0| 41 64 6NS-1 A -100 13.0 107.0
7 56 4vyDS-3 42 -800 8.0 1120 15 72 44DN-2 ¢A -300 10.0 1100| 53 76 6NS-1 #A -100 13.0 107.0
29 104 5vDS-3 #2 -800 8.0 112.0 (121 102 54DN-2 ¢A -300 100 110.0| 79 44 6NS-1 &A -100 13.0 107.0
51 86 4vDS-3 42 -800 8.0 112.0 (105 86 4v V= A -420 6.0 114.0|101 78 3NS-1 %6 -100 13.0 107.0
37 2 5¢vDS-4 42 -1100 2.0 1180| 21 20 44aDN-3 ¢A  -500 3.0 117.0(105 86 6NS-1 #A -100 13.0 107.0
39 16 44#DN-4 &A -1100 2.0 1180 | 61 82 44DN-3 ¢K -500 3.0 1170 59 90 64 S-2 &A  -200 2.0 118.0
107 4 4vDS-4 42 -1100 2.0 118.0| 37 106 4vDV= &5 -590 0.0 1200 43 30 7NDS-2 «A  -500 0.0 120.0
13 D98 Bésta kontrakt 14 « ED852 Bésta kontrakt 15 4105 Bésta kontrakt
Nord v 108542 54 N =650 Ost vD102 14 O =-80 Syd vKn1043 34 V =-140
Alla + K4 Ingen ¢ 92 NS + KD986
*763 & ¢ v & NT #1072 & ¢ v & NT *82 & ¢ v o NT
4106 «Kn43 N 7 1011118 s K4 4Knl0973 N 7 7 6 6 6 4 KD642 & EKn93 N6 9 7 46
vDKn9  v73 S 7 1011118 v 87643 vEK S77666 vE865 vD2 S6 9746
¢ Kn1052 ¢ 963 06 3223 ¢+ED10 4653 O556 76 +Kn ¢ 1052 074596
#DKn42 #EK1085 V63223 #Kn64 985 V55676 K104 #9765 V64596
# EK752 46 « 87
v EK6 v Kn95 v K97
+ ED87 + KKn874 ¢ E743
*9 #EKD3 #EDKn3
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
87 2 44 S+3 &T 710 1200 0.0|115 34 24#S+1 v3 110 1189 11| 9 4 3vV-4 +K 200 120.0 0.0
9 74 4vS+2 T 680 111.0 9.0|117 58 3#S= v8 110 1189 11| 31 54 3¢ S= «K 110 117.0 3.0
29 94 44 S+2 vQ 680 1110 9.0| 95 72 24DO-1 #A 100 1158 42111 72 3¢ N= vQ 110 117.0 3.0
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51 118 44 S+2 +¢J 680 111.0 90| 1 86 2#S= v8 90 1045 155( 19 6 44DV-1 ¢K 100 1120 8.0
63 14 44 S+2 vQ 680 111.0 9.0( 7 60 2¢ S= v7 90 1045 155 37 24 44DV-1 ¢K 100 1120 8.0
93 4 44 S+2 T 680 111.0 9.0 19 80 INS= v8 90 1045 155121 26 44 V-2 ¢K 100 1120 8.0
95 72 4v S+2 T 680 111.0 9.0 29 94 2¢ S= v7 90 1045 155 17 48 INS= a4 90 107.0 13.0
99 64 4v S+2 T 680 111.0 9.0( 53 82 24S= v7 90 1045 155| 91 36 INS= a4 90 107.0 13.0
117 58 4v S+2 T 680 111.0 9.0| 57 120 INS= v8 90 1045 155( 11 86 44 V-1 +Q 50 97.0 23.0
1 86 44 S+1 «T 650 77.0 43.0( 77 38 2#S= v8 90 1045 155 25 88 44 O-1 ¢A 50 97.0 23.0
3 96 44 S+1 #Q 650 77.0 43.0( 81 102 24 S = &4 90 1045 155 35 94 34 V-1 ¢K 50 97.0 23.0
5116 44 S+1 +J 650 77.0 43.0( 91 50 INS= v8 90 1045 155 73 96 44 V-1 &8 50 97.0 23.0
15 44 44 S+1 +5 650 77.0 43.0(107 20 INS= v3 90 1045 155 83 52 44 V-1 ¢K 50 97.0 23.0
17 78 4v S+1 ¢J 650 77.0 430 47 32 2vV-1 &A 50 921 27.9| 97 62 44 V-1 ¢K 50 97.0 23.0
23 76 44 S+1 vQ 650 77.0 43.0| 49 104 2v V-1 ¢9 50 92.1 27.9(101 110 44 O-1 ¢A 50 97.0 23.0
25 90 44 N+1 #A 650 77.0 430 9 74 34S-1 &4 -50 734 46.6 (117 18 44 O-1 438 50 97.0 23.0
31 24 44 S+1 vQ 650 77.0 430| 21 40 INS-1 3 50 734 46.6| 81 56 4¢ S-1 a2 -100 87.0 33.0
33 22 44 S+1 #Q 650 770 43.0| 23 76 3¢ S-1 v6 -50 734 466 87 106 4¢ N-1 «A -100 87.0 33.0
37 52 44 S+1 vQ 650 77.0 43.0| 25 90 2¢ S-1 v3 -50 734 466 5 50 34 V= a5 -140 60.0 60.0
41 108 4v S+1 «T 650 77.0 430 31 24 2¢ S-1 v3 -50 734 46.6| 7 120 34 O= A -140 60.0 60.0
43 100 44 S+1 46 650 77.0 43.0| 43 100 INS-1 v3 50 734 46.6| 15 70 34 V= »8 -140 60.0 60.0
49 104 44 S+1 #Q 650 77.0 430 45 92 2NN-1 4 -50 734 46.6| 23 82 34 O= a8 -140 60.0 60.0
53 82 44 S+1 vJ 650 77.0 43.0| 51 118 2¢ S-1 v8 -50 734 46.6( 29 64 34 V= ¢K -140 60.0 60.0
61 122 44 S+1 vQ 650 77.0 43.0| 55 110 3¢ S-1 v8 -50 734 466 33 28 24 V+1 &8 -140 60.0 60.0
71 30 44 S+1 T 650 77.0 430| 65 36 2¢ S-1 v8 -50 734 46.6( 39 92 34 V= &8 -140 60.0 60.0
73 112 44 S+1 T 650 77.0 430 71 30 24 N-1 vK -50 734 46.6( 41 22 34 V= ¢K -140 60.0 60.0
79 70 44 S+1 vQ 650 77.0 430| 87 2 2¢S-1 w7 50 734 466 47 98 34 O= ¢A -140 60.0 60.0
81 102 44 S+1 vQ 650 77.0 43.0| 89 12 2¢ S-1 v3 -50 734 46.6( 51 76 34 V= ¢K -140 600 60.0
85 68 44 S+1 vQ 650 77.0 43.0(105 114 3¢ S-1 v8 -50 734 46.6( 53 122 34 V= *8 -140 60.0 60.0
89 12 44 S+1 #4 650 77.0 43.0(113 8 3¢ S-1 v8 -50 734 46.6| 55 90 34 V= ¢K -140 600 60.0
109 98 4v N+1 #A 650 77.0 43.0(121 56 2¢ S-1 v8 50 734 46.6| 59 84 24 V+1 &2 -140 60.0 60.0
111 66 4v S+1 #Q 650 770 430 3 96 3#S-2 v3 -100 331 869| 61 68 24 V+1 ¢K -140 60.0 60.0
113 8 44 S+1 T 650 77.0 43.0| 5116 3¢ S-2 3 -100 331 86.9| 71 100 3« O= ¢A -140 60.0 60.0
115 34 44 S+1 vQ 650 77.0 430 11 62 24 N-2 vK -100 331 869| 77 32 24 O+1 +¢3 -140 60.0 60.0
121 56 54 S= +#Q 650 77.0 430 13 16 24 N-2 vK -100 331 86.9| 79 116 34 V= ¢K -140 60.0 60.0
47 32 44 S= vQ 620 450 75.0| 15 44 24 N-2 vA -100 331 869| 8 8 24 V+l 48 -140 60.0 60.0
57 120 44 S= vQ 620 450 75.0| 17 78 2#S-2 &K -100 331 86.9| 93 14 34 V= ¢K -140 600 60.0
69 42 4a4 S= vQ 620 450 75.0| 27 46 24 N-2 vA -100 331 86.9| 95 44 34 V= ¢K -140 60.0 60.0
75 18 44 S= #Q 620 450 75.0| 33 22 24 N-2 vA -100 331 86.9| 99 108 24 O+1 &7 -140 60.0 60.0
77 38 44 S= #Q 620 450 75.0| 35 10 24 N-2 vA  -100 331 86.9(103 74 24 O+1 ¢4 -140 60.0 60.0
97 54 44 S= vQ 620 450 750 39 6 2NS-2 8 -100 33.1 86.9|105 118 34 O= 48 -140 60.0 60.0
91 50 3NN= &A 600 38.0 82.0| 41 108 24 N-2 vA -100 33.1 86.9(107 40 34 V= ¢K -140 60.0 60.0
7 60 14 S+5 vJ 230 36.0 84.0| 61 122 3¢ S-2 v3 -100 33.1 86.9|113 58 34 V= &8 -140 60.0 60.0
11 62 14 S+4 T 200 23.0 97.0| 67 26 24 N-2 K -100 331 869| 1114 34V+1 K -170 220 98.0
19 80 24 S+3 #Q 200 23.0 97.0| 69 42 3NS-2 v4 -100 331 869| 3 16 34 V+l ¢K -170 220 98.0
27 46 14 S+4 vQ 200 23.0 97.0| 73 112 3¢ S-2 v8 -100 331 86.9| 13 80 24 V+2 &8 -170 220 98.0
35 10 14 S+4 #Q 200 23.0 97.0| 75 18 3¢ S-2 4K -100 331 86.9| 21 46 34 O+1 w7 -170 220 98.0
39 6 14S+4 T 200 23.0 97.0| 79 70 3¢ S-2 v3 -100 331 86.9| 27 112 34 V+1 ¢K -170 220 98.0
45 92 14 S+4 #Q 200 23.0 97.0| 83 106 24 N-2 vK -100 331 86.9| 43 42 24 V+2 &2 -170 220 98.0
55 110 3v S+2 #2 200 23.0 97.0| 85 68 4¢ S-2 v3 -100 331 869| 45 66 34 V+l ¢K -170 22.0 98.0
83 106 14 S+4 #J 200 23.0 97.0| 97 54 24 N-2 vK -100 33.1 86.9| 49 10 34 V+1 &8 -170 220 98.0
101 48 14 S+4 vQ 200 23.0 97.0| 99 64 3#S-2 &4 -100 331 86.9| 65 30 24 V+2 &8 -170 220 98.0
103 28 14 S+4 vQ 200 23.0 97.0(109 98 24 N-2 vK -100 331 86.9| 69 34 24 V+2 vJ -170 220 98.0
105 114 24 S+3 #Q 200 23.0 97.0(119 84 2NN-2 43 -100 331 86.9| 75 102 34 V+1 ¢K -170 220 98.0
107 20 14 S+4 vQ 200 23.0 97.0 59 88 2v V= *2 -110 83 111.7| 89 2 24 V+2 &8 -170 220 98.0
21 40 34 S+1 #Q 170 7.0 113.0| 37 52 3NN-3 vA -150 3.1 116.9 (109 12 34 V+1 K -170 22.0 98.0
59 88 14 S+3 vQ 170 7.0 113.0| 93 4 3¢ S-3 v6 -150 3.1 1169 | 57 78 44 S-2 «K  -200 8.0 112.0
65 36 14 S+3 vQ 170 7.0 113.0|101 48 24 N-3 vA  -150 3.1 1169 63 20 44 V= &8 -420 5.0 115.0
119 84 34 S+1 #Q 170 7.0 113.0|103 28 3NN-3 vA -150 3.1 1169 67 60 44 V= K -420 5.0 115.0
13 16 3NN-1 &5 -100 1.0 119.0| 63 14 A=/A= 60.0 60.0(119 38 44 V+1 &2 -450 2.0 118.0
67 26 4vS-1 T  -100 1.0 119.0|111 66 A-/A-  48.0 48.0|115 104 24D O +1 «8 -570 0.0 120.0
16 «D10976 Basta kontrakt 17 # 842 Basta kontrakt 18 4943 Basta kontrakt
Vast v73 44 N D -3-500 Nord v D986 74 O =-1510 Ost v Kn87 44 O D -3 500
ov + EKn97 Ingen + D105 NS + DKn104
*76 & ¢ v & NT #K106 & ¢ v & NT «D73 & ¢ v & NT
a4 » EK2 N35374 « EKD9 + 10653 N20501 « Kn86 « 105 N6 7579
vEKKn64 v 1085 S$35374 v10 v E42 S$20501 v 96 v K10542 S675729
¢ D32 ¢ K105 O 107 9 6 9 ¢ E87 ¢ KKn963 O 11138 1311 ¢E7 ¢ K9863 076744
#10943  #KKn85 vV 107 9 6 9 #EDKN73 #4 V 11138 1311 #EKn9652 #K V761744
4 Kn853 4 Kn7 « EKD72
v D92 v KKn753 vED3
+ 864 ¢42 ¢52
&ED2 #9852 #1084
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
7120 4v V-2 &7 200 1119 82| 61 8 5¢0-2 «J 100 1180 20| 49 94 3+4V-4 49 200 1199 0.1
45 66 3NO-2 43 200 1119 82| 89 106 3NV-2 ¢8 100 1180 2.0 29 108 24 S+2 v9 170 1147 53
51 76 4v V-2 #7 200 1119 82105 76 3NO-2 +3 100 1180 20| 37 54 34S+1 v9 170 1147 53
53 122 4y V-2 #7 200 1119 82| 31 62 64 O-1 3 50 1120 80| 65 100 24 S+2 9 170 1147 53
81 56 3NO-2 3 200 1119 82| 81 26 3NV-1 v6 50 112.0 8.0(117 102 24 S+2 v9 170 1147 53
83 52 3NO-2 3 200 1119 82111 44 3NO-1 3 50 112.0 80| 25 84 2NS+1 &6 150 107.3 127
91 36 3NO-2 45 200 1119 82| 49 94 Pass 108.0 12.0( 45 72 44V-3 49 150 107.3 127
95 44 4vyDV-1 &7 200 1119 82| 41 28 34 V+l a2 -130 106.0 14.0| 91 30 INS+2 «5 150 107.3 127
117 18 3NO-2 5 200 1119 82| 67 120 14V+4 8 -150 1040 16.0| 1 118 24 S+1 v9 140 91.6 284
13 80 4v V-1 #7 100 93.6 265| 47 12 34 O+3 v5 -230 1020 18.0| 9 14 24 S+1 v9 140 91.6 284
23 82 4v V-1 7 100 93.6 265 57 48 4a4 V= a2 -420 99.0 21.0| 11 114 34 S= v9 140 91.6 284
33 28 3NO-1 3 100 93.6 265| 85 58 44 V= v6 -420  99.0 21.0| 21 112 34 S= v9 140 91.6 284
49 10 4v V-1 «Q 100 93.6 265| 53 68 5¢ O+2 v3 -440 960 24.0| 33 74 34 S= ¢A 140 91.6 284
59 84 4v V-1 7 100 93.6 265(109 2 44 V+1l v8 -450 920 28.0| 61 8 24 S+1 ¢A 140 91.6 284
73 96 4v V-1 «Q 100 93.6 26.5(113 18 44 V+1 v8 -450 920 28.0| 73 16 24 S+1 v9 140 91.6 284
75 102 4v O-1 «3 100 93.6 26.5(115 10 44 O+1 &7 -450 920 28.0| 77 98 24 S+1 v9 140 91.6 284
97 62 4v V-1 7 100 93.6 265| 55 88 3NO+2 v5 -460 86.0 34.0| 81 26 34 S= &9 140 91.6 284
109 12 3NO-1 3 100 93.6 265| 63 40 3NO+2 3 -460 86.0 34.0|105 76 24 S+1 ¢A 140 91.6 284
85 8 Pass 834 36.6| 87 52 3NO+2 3 -460 86.0 34.0|111 44 14 S+2 ¢A 140 91.6 284
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47 98 24 N-1 v5 -50 814 387 1118 44 O+2 v3 -480 65.0 55.0|113 18 24 S+1 v9 140 91.6 284
9 4 34N-2 v8 -100 753 448| 9 14 44 O+2 v3 -480 65.0 55.0|101 90 INS+1 &5 120 779 421
15 70 24DN-1 A -100 753 448 11 114 44 V+2 v9 -480 65.0 55.0| 7 78 24 S= ¢+A 110 70.5 495
67 60 34 N-2 &K -100 753 44.8| 23 122 44 V+2 v8 -480 65.0 55.0| 19 92 24 S= ¢A 110 70.5 495
87 106 34 N-2 T -100 753 448 25 84 44 O+2 3 -480 650 55.0| 59 38 14 S+1 ¢A 110 705 495
121 26 34DN-1 T  -100 753 44.8| 33 74 44 V+2 v6 -480 65.0 55.0| 79 50 24 S= v9 110 70.5 495
3 16 3#0= &5 -110  67.1 529| 37 54 44 O+2 ¢4 -480 65.0 55.0| 97 86 24 S= A 110 705 495
77 32 24 0+1 43 110 67.1 529| 43 34 4e V+2 a4 -480 65.0 55.0|109 2 24 S= v9 110 70.5 495
93 14 34 0= 45 -110 671 529| 59 38 44 O+2 ¢4 -480 650 55.0| 13 6 2#V-2 44 100 55.8 64.2
25 88 4aV-= 49 -130 610 59.0| 69 104 44 V+2 v8 -480 650 55.0| 27 96 3#V-2 43 100 55.8 64.2
103 74 340+l &5 -130 610 59.0| 71 42 44 V+2 v8 -480 65.0 55.0| 35 64 3#V-2 ¢Q 100 55.8 64.2
119 38 3« O0+1 ¥9 -130 610 59.0| 83 24 44 O+2 3 -480 65.0 55.0| 39 66 3«V-2 ¢Q 100 55.8 64.2
99 108 2v V+1 &7 -140 539 66.1| 91 30 44 O+2 v3 -480 650 55.0| 41 28 3#V-2 43 100 55.8 64.2
105 118 2v V+1 46 -140 539 66.1| 93 20 44 O+2 ¢4 -480 65.0 55.0| 43 34 3#V-2 ¢Q 100 55.8 64.2
107 40 2v V+1l 46 -140 539 66.1| 95 70 44 V+2 «4 -480 65.0 55.0| 55 88 3«V-2 ¢Q 100 55.8 64.2
111 72 2v V+1 &7 -140 539 66.1| 97 86 44 V+2 v8 -480 650 55.0| 99 22 3#V-2 +Q 100 55.8 64.2
41 22 44 N-3 T  -150 488 71.2| 99 22 44 O+2 v7 -480 65.0 55.0| 15 116 INS= &5 20 46.3 737
31 54 2vV+2 49 -170 448 753|119 32 44 O+2 ¢4 -480 65.0 55.0| 75 56 3vO-1 &K 50 432 76.8
55 90 3v O+1 45 -170 448 753| 29 108 3NV +3 &2 -490 460 74.0| 89 106 3v O-1 «A 50 43.2 76.8
115 104 3v V+1 «T -170 448 753| 3 80 44 V+3 +v8 -510 310 89.0| 31 62 24S-1 #A -100 316 884
79 116 3NO= 45 -600 40.7 793| 5 36 54 O+2 48 -510 310 89.0| 47 12 24S-1 ¢A -100 316 884
1114 4v O= 45 -620 214 98.6| 7 78 44 V+3 42 -510 310 89.0| 57 48 24 S-1 +¢A -100 316 884
5 50 4v O= &3 -620 214 98.6| 15 116 44 V+3 v8 -510 310 89.0| 69 104 34 S-1  v9 -100 316 884
11 86 4v V= v7 -620 214 98.6| 17 110 44 V+3 44 -510 310 89.0| 93 20 34 S-1 v¥9 -100 316 884
17 48 4y V= 46 -620 214 98.6| 19 92 44 V+3 &4 -510 310 89.0| 95 70 24 S-1 +A -100 316 884
19 6 4v V= v3 -620 214 986| 39 66 44 O+3 v3 -510 310 89.0|103 4 34S-1 ¥9 -100 316 884
21 46 4y V= 46 -620 214 986| 45 72 44 O+3 ¥5 -510 310 89.0|115 10 24 S-1 #A -100 316 884
27 112 4v O= ¢4 -620 214 98.6| 51 82 44 O+3 3 -510 310 89.0|119 32 24 S-1 +A -100 316 884
29 64 4v V= 49 -620 214 98.6| 73 16 44 V+3 &4 -510 310 89.0| 23 122 2vO= &A -110 179 102.1
37 24 4v O= 45 -620 214 98.6| 75 56 44 V+3 v8 -510 310 89.0| 53 68 2»vO= «A -110 179 102.1
43 42 4v V= T 620 214 98.6| 77 98 44 V+3 &6 -510 310 89.0| 63 40 2v O= &K -110 179 102.1
57 78 4v V= 49 -620 214 98.6|101 90 44 V+3 &2 -510 310 89.0| 83 24 2vO= &A -110 179 102.1
61 68 4v O= 45 -620 214 986|121 60 44 O+3 ¥3 -510 310 89.0| 87 52 2vO+1 A -140 12.7 107.3
63 20 4v V= 49 -620 214 986| 13 6 64 O= &2 -980 14.0 106.0| 3 80 34 S-2 #A -200 6.4 113.6
65 30 4v V= &7 -620 214 986|103 4 64 O= ¢4 -980 14.0 106.0| 67 120 34 S-2 v9 -200 6.4 113.6
71 100 4v V= 46 -620 214 98.6|107 46 64 V= v8 -980 14.0 106.0| 71 42 34 S-2 ¢A -200 6.4 113.6
89 2 4v V= 46 -620 214 98.6| 21 112 64 O+1 «J -1010 6.0 1140| 85 58 34S-2 +A -200 6.4 113.6
101 110 4v V= 49 -620 214 986| 27 96 64 O+1 ¢4 -1010 6.0 114.0|107 46 44DS-1 ¢A  -200 6.4 113.6
113 58 4v V= 46 -620 214 98.6| 35 64 64 O+1 &7 -1010 6.0 1140| 51 82 34S-3 ¢A -300 0.1 119.9
69 34 3NO+1 ¢4 -630 2.1 118.0| 65 100 64 V+1 42 -1010 6.0 1140| 5 36 A=/A= 60.0 60.0
39 92 4¢vDV= 46 -790 0.0 120.0 (117 102 64 O+1 ¥3 -1010 6.0 114.0| 17 110 A=/A= 60.0 60.0
35 94 A-/A- 48.0 438| 79 50 5vDS-6 «A -1400 0.0 120.0 (121 60 A=/A= 60.0 60.0
19 43 Basta kontrakt 20 a- Basta kontrakt 21 » EKD5 Basta kontrakt
Syd v EK65 6# S D -3-500 Vast v 963 44 V =-620 Nord vD1072 6NT O D -5 1100
ov +D8 Alla + D874 NS ¢ 842
#K109854 & ¢ v & NT +KD6543 & ¢ v & NT £102 & ¢ v & NT
4K87654 #EDI10 N9 2722 «D9653 4K102 N7 4334 4 987 443 N 115 10125
v Kn2 vD104 $92822 vKKn4  vEDS82 S74334 vEKNn84 v65 S 115 10125
¢ EKKn103 ¢ 964 O 4 114 115 ¢E962 ¢ Knl05 059 9 108 ¢ K97 +EDKN106530 2 8 3 1 7
*- #D732 V 4 114 115 *Kn *E97 vV 59 10108 «D93 £64 V28317
4 Kn92 4 EKNn874 4 Kn1062
v 9873 v 1075 v K93
4752 + K3 .-
#EKn6 #1082 #EKKn875
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 118 64 V-2 vK 200 1180 20| 9 20 7vO-5 «A 500 1170 3.0| 13 66 44DV-9 «A 2300 1200 0.0
25 38 4e4V-2 vA 200 1180 20| 13 92 44DV-2 #K 500 1170 30| 3 92 54 N+1 v6 680 116.0 4.0
95 116 64 V-2 vA 200 1180 20| 83 54 4eDV-2 #K 500 117.0 30| 83 62 44 N+2 ¢A 680 116.0 4.0
3 6 54V-1 vA 100 108.0 12.0| 89 52 44DV-2 #K 500 1170 3.0| 91 42 44 N+2 +A 680 116.0 4.0
23 68 54 V-1 vA 100 1080 120( 25 38 44 V-3 &K 300 1120 80| 1 82 44 S+1 +9 650 103.0 17.0
37 62 5eV-1 vA 100 108.0 12.0f 7 48 44DV-1 &K 200 99.0 21.0| 7 110 44 N+1 v6 650 103.0 17.0
39 72 54V-1 vA 100 1080 12.0| 23 68 44 V-2 #K 200 99.0 21.0( 9 40 54 N= ¢A 650 103.0 17.0
91 100 54 V-1 vA 100 108.0 12.0| 37 62 44DV-1 &K 200 99.0 21.0| 19 72 44 N+1 &6 650 103.0 17.0
101 88 54 V-1 vA 100 1080 12.0| 61 58 54 V-2 «K 200 99.0 21.0| 23 8 44 N+1 +¢A 650 103.0 17.0
121 120 54 V-1 vA 100 108.0 12.0| 65 42 44 V-2 &K 200 99.0 21.0| 25 32 44 S+1 7 650 103.0 17.0
17 90 34 V+l vA -170 99.0 210( 71 34 44 V-2 &K 200 99.0 21.0| 41 4 44 S+1 48 650 103.0 17.0
99 28 34 V+l vA -170 99.0 21.0| 79 36 44DV-1 &K 200 99.0 21.0| 43 10 44 S+1 7 650 103.0 17.0
43 104 24 V+3 vA  -200 940 26.0| 81 60 44 V-2 «K 200 99.0 21.0( 79 30 54 S= ¢7 650 103.0 17.0
57 110 34 V+2 vA -200 94.0 26.0| 97 114 44 V-2 &K 200 99.0 21.0| 95 50 44 S+1 7 650 103.0 17.0
69 10 24 V+3 vA  -200 94.0 26.0(109 106 44 V-2 &K 200 99.0 21.0( 33 14 44 S= ¢7 620 85.0 35.0
9 20 54DN-2 A  -300 89.0 31.0(113 102 44DV-1 &K 200 99.0 21.0| 47 106 44 N= ¢A 620 85.0 35.0
27 16 5#DN-2 A  -300 89.0 31.0({115 94 44 V-2 &K 200 99.0 21.0| 61 18 44 N= &6 620 85.0 35.0
5 30 54DN-3 «A 500 79.0 410 1 76 44V-1 &K 100 62.0 58.0( 71 104 44 S= ¢+K 620 85.0 35.0
19 66 5#DN-3 ¢4 -500 79.0 410| 5 30 4eV-1 #Q 100 62.0 58.0| 93 46 4v N= ¢A 620 85.0 35.0
31 86 5#4DN-3 A -500 79.0 410 11 118 3NO-1 v7 100 62.0 58.0(105 122 44 N= +A 620 85.0 35.0
41 74 54DN-3 4A 500 79.0 41.0| 15 50 44 O-1 2 100 62.0 58.0(115 64 44 N= v6 620 85.0 35.0
49 64 54DN-3 4A -500 79.0 41.0| 17 90 44 V-1 «K 100 62.0 58.0(119 12 44 N= ¢A 620 85.0 35.0
51 122 5#DN-3 A -500 79.0 41.0( 21 96 44 V-1 &K 100 62.0 58.0| 81 120 5# S= ¢7 600 76.0 44.0
111 70 5#4DN-3 #A -500 79.0 41.0| 31 86 44 V-1 «K 100 62.0 58.0| 5 100 5¢DO-3 #K 500 68.0 52.0
119 98 5#DN-3 #A -500 79.0 41.0| 33 4 4eV-1 v3 100 62.0 58.0| 27 80 5¢DO-3 #A 500 68.0 52.0
1 76 44 V= vA 620 56.0 64.0| 43 104 44 V-1 ¢4 100 62.0 58.0| 55 38 5¢DO-3 #A 500 68.0 52.0
21 96 4e V= vA 620 56.0 64.0| 45 44 44 V-1 &K 100 62.0 58.0( 57 90 5¢DO-3 #A 500 68.0 52.0
29 22 4e V= YA 620 56.0 64.0| 47 2 44V-1 &K 100 62.0 58.0( 65 34 5¢DO-3 #A 500 68.0 52.0
53 8 44 V= vK -620 56.0 64.0| 49 64 44 V-1 &K 100 62.0 58.0(107 96 5¢DO-3 &K 500 68.0 52.0
55 84 4e V= vA 620 56.0 64.0| 51 122 44 V-1 #Q 100 62.0 58.0(113 56 5¢DO-3 #A 500 68.0 52.0
59 32 4e V= YA 620 560 640| 53 8 4e4V-1 &K 100 62.0 58.0| 11 76 5¢DO-2 #K 300 58.0 62.0
63 46 44 V= vK -620 56.0 64.0| 57 110 44 V-1 &K 100 62.0 58.0| 85 102 5¢DO-2 #A 300 58.0 62.0
71 34 4e V= vA 620 560 64.0| 63 46 44 V-1 &K 100 620 58.0| 99 74 4¢DO-2 &A 300 58.0 62.0
77 12 4e V= vK  -620 56.0 64.0| 67 78 44 V-1 &K 100 62.0 58.0| 29 28 24 S+3 +¢9 200 54.0 66.0
85 18 44 V= vA -620 56.0 64.0| 69 10 44 V-1 &K 100 62.0 58.0| 21 16 5¢ O-3 #A 150 49.0 71.0
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87 24 44 V= vA -620 56.0 64.0| 77 12 44 V-1 &K 100 62.0 58.0( 31 114 5¢ O-3 &A 150 49.0 71.0
89 52 44 V= vA 620 56.0 64.0| 87 24 44 V-1 &K 100 62.0 58.0( 37 86 44 N+1 A 150 49.0 71.0
93 40 4e4 V= vA -620 56.0 64.0| 91 100 44 V-1 ¥3 100 62.0 58.0(121 78 44 S+1 7 150 49.0 71.0
105 82 44 V= vA -620 56.0 64.0| 95 116 44 V-1 &K 100 62.0 58.0( 17 88 44 S= 7 130 43.0 77.0
117 56 44 V= vA 620 56.0 64.0| 99 28 44 V-1 &K 100 62.0 58.0( 45 70 44 S-= +K 130 43.0 77.0
7 48 54 V= vK -650 230 97.0|101 88 44 V-1 v9 100 62.0 58.0| 97 118 3¢DO-1 #A 100 39.0 81.0
13 92 54 V= vA -650 23.0 97.0|111 70 3NO-1 «2 100 62.0 58.0(101 84 4¢DO-1 &A 100 39.0 81.0
15 50 44 V+1 ©vA -650 23.0 97.0| 93 40 3&#N-1 &7 -100 36.0 84.0| 63 112 3¢ O-1 &K 50 35.0 85.0
33 4 44 V+1 vA -650 230 97.0| 29 22 2NO= *2 120 34.0 86.0| 69 94 4¢ O-1 #A 50 35.0 85.0
35 108 44 V+1 ©vA -650 23.0 97.0 3 6 2v O+1 &A -140 30.0 90.0| 39 44 64 N-1 +A -100 23.0 97.0
45 44 44 V+1 vK -650 23.0 97.0| 35 108 14 V+2 &K -140 30.0 90.0| 49 108 54 S-1 ¢7 -100 23.0 97.0
47 2 44 V+1 vK -650 230 97.0| 55 84 34 V= &K -140 30.0 90.0| 59 98 5&4S-1 ¢7 -100 23.0 97.0
61 58 44 V+1 vK -650 23.0 97.0| 75 26 INO+2 &8 -150 26.0 94.0| 67 48 4vy N-1 +A -100 23.0 97.0
65 42 44 V+1 ©vA 650 23.0 97.0| 59 32 1a V+3 ¢7 -170 240 96.0| 73 6 44 S-1 7 -100 23.0 97.0
67 78 Ha V= vA -650 230 97.0| 41 74 14 S-4 &] 400 22.0 98.0| 77 2 44 N-1 43 -100 23.0 97.0
75 26 44 V+1 vA -650 23.0 97.0| 27 16 3NO= v5 -600 16.0 104.0| 87 54 64 N-1 +A -100 23.0 97.0
79 36 44 V+1 vA -650 23.0 97.0|105 82 3NO= v5 -600 16.0 104.0| 89 24 44 S-1 +7 -100 23.0 97.0
81 60 44 V+1 ©vA -650 23.0 97.0|107 112 3NO= vT -600 16.0 104.0 {103 20 4vy N-1 +A -100 23.0 97.0
83 54 44 V+1 ©vA -650 23.0 97.0|117 56 3NO= v5 -600 16.0 104.0|117 26 54 N-1 +¢A -100 23.0 97.0
97 114 44 V+1 ©vA -650 23.0 97.0(119 98 3NO= vT -600 16.0 104.0| 35 22 3¢ O= SA -110 12.0 108.0
103 14 44 V+1 ©vA -650 23.0 97.0| 19 66 44 V= &K -620 8.0 112.0( 15 36 44DN-1 ¢A -200 9.0 111.0
113 102 54 V= vA -650 23.0 97.0| 73 80 44 V= &K -620 8.0 112.0| 53 58 54 N-2 +¢A -200 9.0 111.0
115 94 44 V+1 K -650 23.0 97.0(103 14 44 V= &K -620 8.0 112.0|111 116 3NN-3 ¢J -300 6.0 114.0
73 80 44 V+2 ©vA -680 3.0 117.0| 39 72 3NO+1 &4 -630 3.0 117.0| 51 68 3NN-4 +A -400 3.0 117.0
109 106 44 V+2 ©vA -680 3.0 117.0 (121 120 3NO+1 ¥5 -630 3.0 117.0| 75 60 3NN-4 +Q -400 3.0 117.0
107 112 54D N-4 &A -800 0.0 1200| 85 18 4aRDO =44 -1080 0.0 120.0|109 52 4vyDN-2 +A -500 0.0 120.0
22 4 EK72 Basta kontrakt 23 «E107 Basta kontrakt 24 4 Kn7652 Basta kontrakt
Ost v KKn74 4y S =420 Syd v D104 ANT S =630 Vast v 974 ANT V D -2 300
ov + K6 Alla +83 Ingen * K7
&E74 & ¢ v o NT #EKD65 & ¢ v o NT #KD4 & ¢ v & NT
4 D106 49843 N9 6 108 9 aD42 4653 N 9 7 109 10 oE 494 N 8 4 4 105
v2 vE109 S 9 6 108 9 vEK95 ¢73 S 9 7 109 10 v EKD1082 vKn65 S 8 4 4 105
¢ DKn8742 ¢ 1095 037353 ¢+ D97 ¢ E1054 035333 + E63 ¢ DKn852 O4 89 38
#K83 D92 V37353 #1098 #7432 V35333 #Knl103 »762 V489 38
& Kn5 & KKn98 « KD1083
v D8653 v Kn862 v3
¢ E3 ¢ KKn62 + 1094
#Kn1065 &Kn #E985
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 82 4vS+1 ¢J 450 956 24.4| 91 34 14DO-4 v6 1100 1200 0.0| 15 30 44DN+1 v5 690 120.0 0.0
9 40 4v S+1 ¢Q 450 95.6 24.4| 65 104 3NN+2 7 660 1140 6.0 3 66 44DS= vK 590 108.0 12.0
15 36 4v S+1 ¢Q 450 956 24.4| 81 78 3NN+2 7 660 1140 6.0| 13 72 44DN= ¢Q 590 108.0 12.0
19 72 4v S+1 ¢4 450 956 24.4| 83 8 3NN+2 &6 660 1140 6.0| 19 44 44DS= vA 590 108.0 12.0
21 16 4v S+1 ¢Q 450 95.6 24.4| 97 76 3NN+2 &3 660 1140 6.0| 29 74 44DN= ¢Q 590 108.0 12.0
23 8 4v N+1 «3 450 95.6 24.4(113 26 3NN+2 &6 660 1140 6.0| 33 20 44DN= v¥5 590 108.0 12.0
29 28 4vy S+1 &8 450 956 24.4| 15 30 3NN+1 7 630 92.0 28.0( 37 114 44DN= ¥5 590 108.0 12.0
33 14 4v S+1 ¢7 450 956 24.4( 21 80 3NN+1 7 630 92.0 28.0| 47 52 44DN= ¥5 590 108.0 12.0
39 44 4v S+1 46 450 956 24.4( 25 98 3NN+1 5 630 92.0 28.0(| 53 18 44DS= vA 590 108.0 12.0
41 4 4v N+1 ¢9 450 956 24.4( 27 6 3NN+1 7 630 92.0 28.0( 67 110 44DS= vA 590 108.0 12.0
47 106 4v S+1 «T 450 95.6 24.4( 29 74 3NN+1 7 630 92.0 28.0(109 24 44DS= ¥vA 590 108.0 12.0
55 38 4v S+1 8 450 95.6 244 31 118 3NN+1 &6 630 92.0 28.0(111 50 44DS= ¥vA 590 108.0 12.0
69 94 4v S+1 ¢Q 450 956 24.4| 33 20 3NN+1 &3 630 92.0 28.0 1 122 44 S= vA 420 80.0 40.0
73 6 4v S+1 7 450 95.6 24.4| 37 114 3NN+1 7 630 92.0 28.0| 11 82 44 S= vyK 420 80.0 40.0
87 54 4v N+1 T 450 956 24.4| 43 94 3NS+1 &T 630 92.0 28.0( 17 84 44 S= vA 420 80.0 40.0
91 42 4v S+1 ¢Q 450 956 24.4( 53 18 3NN+1 7 630 92.0 28.0( 25 98 44 S= vA 420 80.0 40.0
93 46 4v S+1 ¢Q 450 95.6 24.4| 67 110 3NN+1 &5 630 92.0 28.0| 27 6 44 S= vyA 420 80.0 40.0
99 74 4v N+1 49 450 95.6 244 79 100 ANS+1 vA 630 92.0 28.0| 61 102 44 S= vK 420 80.0 40.0
103 20 4v S+1 #3 450 956 24.4| 87 62 3NN+1 ¢4 630 92.0 28.0| 65 104 44 S= vA 420 80.0 40.0
105 122 4v S+1 ¢Q 450 956 244|199 4 3NN+1 7 630 92.0 28.0( 71 10 44 S= vyA 420 80.0 40.0
109 52 4v S+1 ¢Q 450 95.6 24.4(105 68 3NS+1 vA 630 92.0 28.0(| 83 86 44 S= vA 420 80.0 40.0
113 56 4v S+1 ¢Q 450 95.6 24.4(107 16 3NN+1 &3 630 92.0 28.0| 85 56 44 N= +Q 420 80.0 40.0
117 26 4vy N+1 T 450 95.6 24.4(117 60 3NN+1 &5 630 92.0 28.0| 87 62 44 S= vyK 420 80.0 40.0
119 12 4vy N+1 v9 450 95.6 24.4 1122 3NN= 4 600 57.0 63.0| 89 54 44 S= vA 420 80.0 40.0
121 78 4v S+1 ¢Q 450 95.6 24.4 3 66 3NN= 43 600 57.0 63.0| 97 76 44 S= vA 420 80.0 40.0
3 92 4v S= +Q 420 38.7 81.4 5 42 3NN= +4 600 57.0 63.0( 99 4 44 N= v5 420 80.0 40.0
5 100 4y N= T 420 38.7 814 7 90 3NS= vA 600 57.0 63.0(103 40 44 S= vA 420 80.0 40.0
11 76 4v N= a4 420 38.7 814 17 84 3NN= v7 600 57.0 63.0(107 16 44 S= vA 420 80.0 40.0
13 66 4v N= 5 420 38.7 81.4| 23 58 3NN= v7 600 57.0 63.0(117 60 44 S= vyK 420 80.0 40.0
17 88 4v S= +Q 420 38.7 814| 35 28 3NN= v7 600 57.0 63.0 9 46 5vDV-2 42 300 61.0 59.0
25 32 4v S= 46 420 38.7 814 41 14 3NN= +4 600 57.0 63.0(115 108 5¢vDV-2 42 300 61.0 59.0
27 80 4v S= +8 420 38.7 81.4| 47 52 3NN= v7 600 57.0 63.0| 93 112 34 S+2 vA 200 58.0 62.0
31 114 4v S= +Q 420 38.7 814 49 22 3NN= +4 600 570 63.0( 51 8 34S+1 vK 170 54.0 66.0
37 86 4v S= +Q 420 38.7 81.4| 55 32 3NN= +5 600 57.0 63.0({101 38 34 S+1 vA 170 54.0 66.0
43 10 4v S= +Q 420 38.7 81.4| 69 64 3NN= v7 600 57.0 63.0(119 2 24 S+2 vA 170 54.0 66.0
45 70 4v S= +Q 420 38.7 814 73 92 3NN= +5 600 570 63.0( 49 22 5vV-3 &K 150 50.0 70.0
49 108 4v S= +Q 420 38.7 81.4(101 38 3NN= +4 600 57.0 63.0( 21 80 5vV-2 &2 100 42.0 78.0
51 68 4v S= +Q 420 38.7 81.4(111 50 3NN= v7 600 57.0 63.0( 39 70 5vDV-1 «J 100 42.0 78.0
53 58 4v S= +Q 420 38.7 81.4(115 108 3NN= +5 600 57.0 63.0( 41 14 5vV-2 &2 100 42.0 78.0
57 90 4v S= +Q 420 38.7 81.4(119 2 3NN= v7 600 57.0 63.0( 55 32 4vyDV-1 42 100 42.0 78.0
59 98 4v N= 49 420 38.7 81.4(121 48 3NN= +4 600 57.0 63.0( 91 34 5vV-2 &2 100 42.0 78.0
61 18 4v S= +Q 420 38.7 814| 63 96 INN+3 4«3 180 37.0 83.0| 95 36 4vDV-1 &5 100 42.0 78.0
63 112 4y N= a4 420 38.7 814 93 112 2NS+2 vA 180 37.0 83.0(121 48 5vDV-1 ¥4 100 42.0 78.0
65 34 4v S= +Q 420 38.7 81.4| 71 10 3vyS+1 7 170 34.0 86.0 5 42 4y V-1 w7 50 29.0 91.0
67 48 4v S= +Q 420 38.7 814| 57 88 2NN+1 ¢4 150 30.0 90.0( 31 118 5v V-1 &2 50 29.0 91.0
71 104 4v S= +Q 420 38.7 81.4| 8 56 2NN+1 7 150 30.0 90.0| 35 28 4v V-1 &K 50 29.0 91.0
75 60 4v S= +J 420 38.7 81.4(109 24 2NN+1 &3 150 30,0 90.0( 63 96 5v V-1 &2 50 29.0 91.0
77 2 4y N= T 420 38.7 814 11 82 2vyS+1 vA 140 250 95.0( 69 64 4v V-1 46 50 29.0 91.0
79 30 4v S= +Q 420 38.7 81.4| 61 102 14 S+2 vK 140 250 95.0( 73 92 5v V-1 & 50 29.0 91.0
81 120 4v S= 4 420 38.7 814 51 8 2NN= 4 120 22.0 98.0| 45 116 54D S-1 vA -100 22.0 98.0
83 62 4vy N= +9 420 38.7 814 45 116 24 S= vA 110 20.0 100.0| 23 58 2¢v V+1 &2 -140 17.0 103.0
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85 102 4v N= ¢T 420 38.7 81.4 9 46 3NN-1 v7 -100 12.0 108.0| 57 88 1v V+2 &K -140 17.0 103.0
95 50 4v S= +Q 420 38.7 814 13 72 3NN-1 45 -100 12.0 108.0| 77 106 1lv V+2 &K -140 17.0 103.0
101 84 4v S= +Q 420 387 81.4| 19 44 3NN-1 ¢4 -100  12.0 108.0( 81 78 2v V+1 &K -140 17.0 103.0
107 96 4v S= ¢+Q 420 38.7 814| 59 12 3NN-1 5 -100 12.0 108.0 | 75 120 2v V+2 42 -170  12.0 108.0
115 64 4v S= +Q 420 38.7 814 77 106 2NN-1 ¢4 -100 12.0 108.0| 59 12 3v V+2 &K -200  10.0 110.0
35 22 2vN+3 T 200 6.1 1139 95 36 2NN-1 ¢4 -100 12.0 108.0 7 90 5v V= v4 -450 4.0 116.0
89 24 3vS+l1 ¢Q 170 3.1 116.9 (103 40 3NN-1 5 -100 12.0 108.0| 43 94 4v V+1 w7 -450 4.0 116.0
111 116 3v S+1 +Q 170 3.1 116.9| 39 70 4v S-2 &T -200 2.0 118.0| 79 100 4y V+1 v4 -450 4.0 116.0
97 118 4v S-1 ¢ -50 0.0 120.0| 75 120 3NN-2 5 -200 2.0 118.0 (105 68 4v V+1 42 -450 4.0 116.0
7 110 A=/A= 60.0 60.0( 89 54 44 N-2 v7 -200 2.0 118.0 (113 26 4v V+1 K -450 4.0 116.0
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